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COMMON ENTRANCE TEST - 2017

DATE SUBJECT TIME
03-05-2017 PHYSICS 10.30 am to 11.50 am
MAXIMUM MARKS TOTAL DURATION MAXIMUM TIME FOR ANSWERING
60 80 Minutes 70 Minutes
MENTION YOUR CET NUMBER QUESTION BOOKLET DETAILS
VERSION CODE / SERIAL NUMBER
XXXXXX

DOs :
1. Check whether the CET No. has been entered and shaded in the respective circles on the OMR Answer Sheet.

2. This question booklet is issued to you by the invigilator after the 2™ bell i.e., after 10.30 am.

3. The Version Code / Serial Number of this question booklet should be entered on the OMR Answer Sheet and the
respective circles should also be shaded completely.

4.  Compulsorily affix the complete signature at the bottom portion of the OMR Answer Sheet in the space provided.

DONTs :
1. The timing and marks printed on the OMR Answer Sheet should not be damaged / mutilated / spoiled.
2. The 3" Bell rings at 10.40 am, till then;
e Do not remove the seal present on the right hand side of this question booklet.
e Do not look inside this question booklet.
e Do not start answering on the OMR Answer Sheet.
IMPORTANT INSTRUCTIONS TO CANDIDATES

1. This question booklet contains 60 questions and each question will have one statement and four distracters.
(Four different options / choices.)

2. After the 3" Bell is rung at 10.40 am, remove the seal on the right hand side of this question booklet and check
that this booklet does not have any unprinted or torn or missing pages or items etc., if so, get it replaced

immediately by complete test booklet by showing it to Room Invigilator. Read each item and start answering on
the OMR Answer Sheet.

3. During the subsequent 70 minutes :
e  Read each question carefully.

e  Choose the correct answer from out of the four available distracters (options / choices) given under
each question / statement.

e  Completely darken / shade the relevant circle with a blue or black ink ballpoint pen against the
question number on the OMR answer sheet.

Correct Method of shading the circles on the OMR Answer Sheet is : @ . @ @

>

Please note that even a minute unintended ink dot on the OMR Answer Sheet will also be recognized and
recorded by the scanner. Therefore, avoid multiple markings of any kind on the OMR Answer Sheet.

5. Use the space provided on each page of the question booklet for Rough Work. Do not use the OMR Answer
Sheet for the same.

6.  After the last bell is rung at 11.50 am, stop writing on the OMR Answer Sheet and affix your left hand thumb
impression on the OMR Answer Sheet as per the instructions.

~

Hand over the OMR Answer Sheet to the room invigilator as it is.

@

After separating the top sheet (KEA copy), the invigilator will return the bottom sheet replica (Candidate’s copy)
to you to carry home for self evaluation.

9.  Preserve the replica of the OMR Answer Sheet for a minimum period of ONE year.

10. In case of any discrepancy in the English and Kannada versions, the English version will be taken as final.
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A substance of mass 49.53 g occupies 1.5 cm?

of volume. The density of the substance
(in g cm™®) with correct number of significant

figures is
(A) 3.302 (B) 3.300
©33 ) 3.30

Question Id : 1
A car moving with a velocity of 20 ms1 is

stopped in a distance of 40 m. If the same car
is travelling at double the velocity, the distance
travelled by it for same retardation is

(A) 640 m (B) 320 m

(©) 1280 m (D) 160 m

The angle between velocity and acceleration of
a particle describing uniform circular motion is
(A)45° (B) 60 °

©90° D) 180°

QuestionId : 3

If A=2i +3j +8k is perpendicular to
B = 4] 41 + ak, then the value of “a” is

A 1 ® _1
2 2

© 1 D —1

Question Id : 4

A body of mass 50 kg. is suspended using a
spring balance inside a lift at rest. If the lift
starts falling freely, the reading of the spring
balance is

(A) =50 kg

(© <50 kg

(B) > 50 kg
®) =0

Questionld : 5

49.53 g 3,33,0080300¢, 2,000 &A%Y 1.5 em® SR

MoZ,3), B RRTRTT. B3 [RODT A0T,E

(gem™ IQ) FOoIRT WS Toeor  wWOINYY
SNTOTT.

(B) 3.300
(D) 3.30

QuestionId : 1

20 ms™ Fenc BOROZTOE 2,070 ToTO 40 m TRT
FORTTY,  deRTE. wde T,  wide
ﬁemwﬁwrﬁdé airad@d Renc DTBORY, RN
BAR/TIT W 3, @amw TRTR) e:sﬁdoéd

A) 640m  (B)320m
(©) 1280 m

Question|d : 2

WOTD TR NBTRT  B0F COTITT ?.3@50535%(
AV/FLRTON, ©TO  Ien [ ﬁeﬁm%ﬁrﬁ@;

SRS BRETD) SNTOIT.
@4 ®) 60 °
(C) 90 ° (D) 180 °
Queston d:3
A=2i +3] +8k @0 B=4j-4i+ok 7
e)owmﬁz%d, 'Tmdg SNTOZT
A 1 B 1
2 2
©O! D) -1

Question|d : 4

50 kg 3,5,0080300¢,  00TD  TAIDIY 20T
wsn)éojo@dm em@eﬁd@ R oY 3, Ns Nmojaaod
3070 mb’mﬁd em@w@ FLT0DTON
WePCRTORRTT, R O TR BRCOBOT BTRTIT

_____ e:&ﬁdosd
(A) = 50 kg (B) > 50 kg
(C) <50 kg D) =0

Question|Id: 5
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6.

10.

A motor pump lifts 6 tonnes of water from a
well of depth 25 m to the first floor of height
35 m from the ground floor in 20 minutes. The
power of the pump (in kW) is [g=10 ms?]
(A)3 (B) 6

© 1.5 D) 12

Question|d : 6

Two balls are thrown simultaneously in air.
The acceleration of the centre of mass of the
two balls when in air,

(A) depends on the masses of the two balls

(B) depends on the speeds of the two balls
(O) is equal to g (Acceleration due to gravity)

(D) depends on the direction of motion of the
two balls.

QuestionId : 7

The value of acceleration due to gravity at a
depth of 1600 km is equal to

[Radius of earth = 6400 km]

(A) 9.8ms™ B) 49ms

() 196 ms™? (D) 735ms?

Question|d : 8
“Young's modulus’ is defined as the ratio of
(A) tensile stress and longitudinal strain

(B) hydraulic stress and hydraulic strain
(O) shearing stress and shearing strain

(D) bulk stress and longitudinal strain

Question|d: 9

‘Hydraulic lift’ works on the basis of
(A) Stoke’s law (B) Toricelli’s law

(C) Pascal’s Law (D) Bernoulli’s Law

Question|d: 10

10.

20T FRCEIVT® TO0TT° 25 €. BSFRTOT LIVWI0T,
) @03&306 35 Q0e. HBTTYTOT BRTO @OSNﬁ 6
8Q° ﬁ%fmo 8@653 20 @&Jwﬁ%ﬁ@ @333&? T3 VOTF I

T (KW 199) ST [g = 10
ms2]

A3 (B)

QRS D) 12

Question|d: 6

DTRED WBOBONTI) 20T FoOT MoYOIY, WYLONT.
33 QTR WoRONT [,B 008 FeoT, T VPSR Y
gnidevelJ]

BOTONS

(A) QT gdgméﬁ@? w0ees
LTWOOWATOZT
(B) ©T®  WBomony  Jennd  (speed)  &oed
LTWOOVATOZT

(C) & (MOTOZ FeriReZRF) i ATITINTOIT

(D) KORD  BBNT  WOTOD QWY Toed
LTWOOWATOZT

Questionld: 7

1600 km s93E,, MOZ, Seripedmes Woxd
i AR0TNTOTT. [ R0 \_%)zseg = 6400

km]

(A) 9.8 ms™? B) 49 ms?

(©) 19.6 ms™ (D) 7.35ms?

Question|d: 8

‘00O’ I WRWI0F WY, % DTRT SOTHITOTO
9,959, QT
(A) BT T, SWO 0B SROTTF F &
(B) B398 T SWO [0 wordE 078
(C) STTRTE T) SO 30 LTWIRTED 0T, &
(D) ™F, T30 B WROTFF 288
QuestionId: 9

“ROLIT YUBTRTT Y VTS, BPOR TOR [WRTTT
(A) RREF S zoosom (B) ésa@fqé’)oja QO

(C) TR S oD (D) WD D0

Question Id : 10
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1.

12.

13.

14.

15.

The S.I. unit of specific heat capacity is

(A) Jmol™ K B) jkg' k!

© K+ D) Jkg™

For which combination of working
temperatures, the efficiency of ‘Carnot’s
engine’ 1s the least ?

(A) 60 K,40 K B) 40K, 20 K

(O 80K, 60K (D) 100 K, 80 K

QuestionId : 12

The mean energy of a molecule of an ideal gas
is

(A) 2 KT B) 3

—KT
2

(O KT D 1

—KT
2

QuestionId : 13

Two simple pendulums A and B are made to
oscillate simultaneously and it is found that A
completes 10 oscillations in 20 sec and B
completes 8 oscillations in 10 sec. The ratio of

the lengths of A and B is

a) 8 ®B) 64
5 25

© 5 @) 25
4 64

Question Id : 14

The waves set up in a closed pipe are
(A) Transverse and Progressive

(B) Longitudinal and Stationary
(O) Transverse and Stationary
(D) Longitudinal and Progressive

QuestionId : 15

1.

12.

13.

14.

15.

DOF, YU TOTF,FT S.I. DOERIY)
SNTOTT.

A) g mol™ K™

© jx+

B) Jkg' K
D) Jkg

Question Id : 11

DI Q0BT 8 TS S8 NS 0T
RoodRNTE ©8& TR QTOIT ?
(A) 60K, 40K (B) 40K, 20K

(®) 80K, 60 K (D) 100 K, 80 K

Question Id : 12

WO BTTF BAVT WOTD LENT FTIFO JFOIW

_____ SNTOTT.
A) 2 KT B
() ® 3
2
KT D
© (D) ;KT

Question Id : 13

QTR [TV CREUINIT A =030 B .ode %DQ)E;
wodrae@@a’s% @dozp,%d%, Srees A 20 FFoBN 10
@od@@@@ﬁeﬁ@t TR CReosB 10 FFoRM 8
wome@smfa& TONBIFYTO FOTD WONT. TomTT

AR B G OBY oY SN,
A) 8 (B) 64

5 25
© 5 D) 25

4 64

QuestionId : 14

WO AOBZ  TRYEONY,  wvowRndE SN
(A) SEOTF TR T (B) SEOTF, T 40
(C) STFF R0 AT
(D) ODOTF,F TIBY TyTwd

Question Id : 15
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16.

17.

18.

19.

20.

Two spheres of electric charges +2 nC and -8
nC are placed at a distance ‘d’ apart. If they are
allowed to touch each other, what is the new
distance between them to get a repulsive force
of same magnitude as before?

@) 4d ®) 3d
3 4

© d ® d
2

QuestionId: 16

Three point charges of + 2q, + 2q and - 4q are
placed at the corners A, B and C of an

equilateral triangle ABC of side 'x. The
magnitude of the electric dipole moment of this
system is

(A) 2qx ®B) 2./3qx

© 3./2qx D) 3qx

QuestionId : 17
4 % 101 electrons are removed from a neutral

metal sphere of diameter 20 cm placed in air.
The magnitude of the electric field (in nc-2)

at a distance of 20 cm from its center 1s
A) 5760 (B) 1440
(©) 640 (D) Zero

Question|Id: 18

Two point charges A = +3 nC and B = +1 nC
are placed 5 cm apart in air. The work done to
move charge B towards Aby 1 cm s

(A) 1.35x 1077] B)2.7x 107]

(©)2.0x 107] M) 12.1 x 107]

QuestionId: 19

A system of 2 capacitors of capacitance 2 u F
and 4u F 1s connected in series across a
potential difference of 6V. The electric charge
and energy stored in the system are
A)10puCand30u] ®B)36 uCand 108 uJ

©O8uCand24pu)] M 1uCand3pl

Question Id : 20

16.

17.

18.

19.

20.

ROBD NReONHL  +2 nCIW3Y -8 nC AT
STINTI),  TRODT, &Y ‘d” oW ©oITTY
QRINT. OPYNTSy  "OFA oW TR
©0ZTBYO/TT &INY TWIT HBBRF  WOT
TOTIED BRTOTRTOZT 2
(A) 4d B) 3d
3 4
©d ®) d
2

Question Id : 16
TUTO WOTD DT, T SBEINTDT + 2q, + 2q 3O -
4q NYIY, WITONG VT 'z’ BT 20T FOWOTD

&,530% ABC 030 &0RT) R30dneos A, B 3020 C 3¢
BN QOBRNG. B FFFOD ATT QS

DI Ioh ToIReT "encogds.
(A) 2qx ®B) 2./3qx
© 3\/5 qx D) 3 qx

QuestionId : 17

20 F0.30e. masnébdas 200330 3@%@@3@@5&@@@5@06

4 X107  QCRDAFS)  TRTSIND  MPCDY
VEROINT. ©TT  Fe0T,00T 20 F0.4W¢. TRTTY

AT BT Womped (NG IQ)
SNTOZT.

(A) 5760 (B) 1440

(C) 640 (D) ART

Question Id : 18

QTR WOTD é)cﬁoas@@ SHeBNFT A = +3 nC 0B B
= +1 nCIY ™MIDY, 5 cm BOZTTYBLNG.
NaSicy =353 B ojoaSoq 1 cm smwA S 3BMR FOTLD
TN TORD) Slplevcing

(A) 1.35 x 10-?_J____(B) 2.7x qp-7]

(©)2:0x 19-7] (D) 12.1 x 49-7]

Question Id : 19

QT DT, o0BNY Go08E 2 U F 3308 4 uF o
Feed WRER T[[IODT 6 V 033003003 S@TH
WReRATT, B8 F[RA0NY, FeDTHrLT T
3563 o) TBNYL SNTITS.

(A) 10, C0A30 T (B) 36 , C32108 ;]
(C)8uC533324uJ (D)lucme@uJ

Question Id : 20

Page: 5



21. The minimum value of effective capacitance

22.

23.

24.

(A Landd

that can be obtained by combining 3 capacitors
of capacitances 1 pF, 2 pF and 4 pF is

A B

@ 4 ®) 1 pF
7

C

()} %pP (D) 2 pF

Question Id : 21
A cylindrical conductor of diameter 0.1 mm
carries a current of 90 mA. The current density
(In Am™?) 1S (m=3)

(A) 1.2 x107 B) 24 x107

©) 3 % 108 D) 6 x 10°

Question Id : 22

A piece of copper is to be shaped into a

conducting wire of maximum resistance. The

suitable length and diameter are and
respectively.

B)2Landd

(D)2 L and d/2

Question Id : 23
Of the following graphs, the one that correctly
represents the [-V. characteristics of a ‘Ohmic
device’ is

©L2and2d

A I ® I
>V >V
© ! ®) 1 k
5V >V

Question Id : 24

21.

22.

23.

24,

1 pF, 2 pF @) 4 pF poosdods) mRonTss 3
DTT ATBRYIY FOOSREMNIRPA BEOWTITIT

52’0&’1 TWOFOWTO gTFIOI SNTOTT.
A 4 B) 1 pF

5
© 7 (D) 2 pF

i

Question Id : 21

WO RADOBT® &STI0ET  woBIL mﬁ@ 0.1 mm
eme, ¢9T30 90 mA ébzsozsae @m&d&q TROOTOTT.

QTT DWT Tww®m OB (Am? IQ) v
______ Qﬁﬁd)§d (1‘[23)

(A) 1.2 %107 B) 24 x107

©O 3 x 10% D) 6 x 10°

Question Id : 22

2WOTD T, 3306553 ﬁ@w BRETFNTOR é)cﬁo N
DODT 308055@?\ @@dﬂ@%ﬁe@ﬂd 9530 emd méa
oA IR 203 3N0IeB.

©L/2=0=02d (D)2 L &30 d/2

Question Id : 23

33 FPNS sgﬁ%fcl OTNTYTIO WOT ‘2eddT RS T
-V mg séswaoq O3RN SRe0RITT 2

GV ®) 1
© 1 ®) 1 k
L L=

Question Id : 24
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25.

26.

27.

28.

The value of I in the figure shown below is

20 A 4A
Y5 A
3A I
A) 8A B) 21A
© 19A D) 4A

Question Id : 25

The power dissipated in 30 resistance in the
following circuit is

40
@A) 0.75W 3B) 0.25W
O 1w M 0.5W

Question Id : 26

In metre bridge experiment, with a standard
resistance in the right gap and a resistance coil
dipped in water (in a beaker) in the left gap,
the balancing length obtained is‘l’. If the
temperature of water is increased, the new

balancing length is
A)>1 B) <1
© =1 D=0

Question Id : 27

A proton, a deuteron and an a - particle are
projected perpendicular to the direction of a
uniform magnetic field with same kinetic
energy. The ratio of the radii of the circular
paths described by them is

A) 1:.2:1 ®B) 1:/2:42
© .J2:1:1 M) j2:.2:1

Question Id : 28

25,

26.

27.

28.

BIT SRe0RTOR 288,T3Q, 1 B TRY, O 2

20 A 4A
YSA
3A I
(A) 8A (B) 21A
(C) 19A (D) 4A
Question Id : 25
R eI AWFoBOTY, 30 TRCTTY
dmgrojammw RO, SNTOTT.
45V,
1Q 2
40
(A) 0.75W (B) 0.25W
© W (D) 0.5W

Question Id : 26

Q0T W, T,0IRNTY, WwOn@ed oy s
00T TREFBIY, TN JEOIQ, TOONIT (20esT*
SQ, SNRTROT) TREFE TOTOPOD), DTN

0T EReRATN AROBRCVT BTy 17 SNTOST.
QeOT NVF BN, DLHTWS TRT FERCVT BRTF
SNTOTT.

®B) <1
D) =0
Question Id : 27

2WOTD TP, 0ERT, 20T BRBTIT® B womda -
FENTR), WwOTH DFTRT @osﬁeé 1] 20T BOR
%ojrao@ﬁ ©0WON wmmﬁd @@mfo SReOTOT
wag@dd TONY % mf £9[0TTO3R)

shods.

A) 1:42:1
©O .J2:11

®B) 1:./2:/2
™ J2:2:1

Question Id : 28
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29.

30.

31.

32.

A galvanometer of resistance 50 Q is connected
to a battery of 3V along with a resistance of
2950  in series shows full-scale deflection of
30 divisions. The additional series resistance
required to reduce the deflection to 20
divisions is

(A) 15000 B) 44400

(© 74000 D) 29500

Question Id : 29

The magnetic field at the center of a current
carrying loop of radius 0.1 m is 5./5 times

that at a point along its axis. The distance of
this point from the centre of the loop is
(A4) 0.2 m B) 0.1 m

(©) 0.05 m D) 0.25 m

Question Id : 30

A straight wire of length 50 cm carrying a
current of 2.5 A is suspended in mid-air by a
uniform magnetic field of 0.5 T (as shown in
figure). The mass of the wire is (2= 10 ms~?)

7>

I
X B
(B) 250 gm
(D) 100 gm

(A) 62.5 gm
(O 125 gm

Question Id : 31

Which of the following properties is ‘False’ for
a bar magnet ?
(A) Its poles cannot be separated.

(B) It points in North-South direction when
suspended.

(O) Its like poles repel and unlike poles attract.
(D) It doesn’t produce magnetic field.

Question Id : 32

29.

30.

31.

32.

20T 50 Q) BRETITO mgewﬁfae ébaeé,squ, 2950 Q
CREFTROOT Tod WOTTE 3V é.raesét EeeBATN
30 NONS T @wnmm;& ZReOTOTT. BT1 20
nons eﬁmmws& BRCOROTOZ TR/ LIeTmOT

BP0 BOYRFT W50 SNDHIT.
(A) 15000 (B) 44400
(O 74000 (D) 29500

Question Id : 29

BT TWEIR, FR0OHT  0.1m AT

WO WRFL  ATOPOD  Feom,  WOTINIAT
TOTZZRy BTWT $TT WOTIBYT 500383,

5./5 I BROTONTOTT. ToMoGT 83 0TI FOTOPOD

Teos, Womd0W TRTTOT.
(A)0.2m (B) 0.1 m
() 0.05m (D) 0.25m

Question Id : 30

2.5 A é)cﬁo T )30 TRODTIW 50 cm wcﬁcﬁ 20000
3e3 30@05353 0.5 T &3THRT aoé@eé 1} m@oﬁa@

SRR am@d (B33, éxaemdawoé) é%
2080 Tmoedoin SNTIT. (g =
10 ms~?) 1

X B
(A) 62.5 gm (B) 250 gm
(C) 125 gm (D) 100 gm

Question Id : 31

20T TIOBTORE B8 TENT NOOFROFNYE Oy T0
3@ 9
(A) 5o 0, WNTFRY, 23T TRWLO T 0Y,

(B) ST SATOVERR UIT_ e DIX FD
SRR

C) TEOL T,[AR DBRFAITH 0B TGO
30, BT SBXRE RO

(D) BT T0IF 3,330 YVOLOTRTINY),

Question Id : 32
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33.

34.

35.

36.

A magnetic dipole of magnetic moment
6 x 1002am*> and moment of inertia

12 X 10" kgm? performs oscillations in a
magnetic field of 2 x 10-? T. The time taken

by the dipole to complete 20 oscillations is
(m > 3)

(A) 36 s
© 125

B)6s
D) 18 s

Question Id : 33
The susceptibility of a ferromagnetic substance
is
(A)>>1
© <1

®B)>1
D) Zero

Question Id : 34

A bar magnet is allowed to fall vertically
through a copper coil placed in a horizontal
plane. The magnet falls with a net acceleration

S
N

D

A)=g
O<g

B)>g
D) Zero

Question Id : 35

The working of magnetic braking of trains is
based on
(A) Alternating current (B) Eddy current

(O) Steady current (D) Pulsating current

Question Id : 36

33.

34.

35.

36.

6 X 1072 Am? 503 R FZ) 12 x 107
kgm® R RTIONT) TROOTOT 2,000
T080D  QT,FI 2x10% T O30T

aoséeé 1] @ome@mm ZRe0ROET. T30 20
@od@eesmfa} Q,JDS@FT{.@@?NQD éﬁméra@ow FOOR

_____ e:mdagd (m 2 3)
(A) 36s (B) 65
(©) 12 D) 18s

Question Id : 33
20T FRE F0EOI B[RV TOZ F)33, 03
A)>>1 B) >1
© <1 (D) ART

Question Id : 34

20T %ézﬁ’%eoﬁa AROBOTY VAT 938,73 AOTOPOL
BN, 20T T03TI0TWay) @owmﬂ we@cﬁowoé IRRT.
TIOTTORE  TWOTRWTO  BENRESTH Y
SNTOTT.

S
N

D

A) =8
© <8

(B) > &
(D) ZoT,

Question Id : 35

%wmf F908e0 23,650 oira@cﬁ;bq 35308 FOXR
BREITEE 20TT

(A) TCIREOD @5&836 )00
(B) @@@@@536 T, 00
(©) ?\gpd QT T T)0D
(D) ROTZEEL LTT T30

Question Id : 36

10
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37.

38.

39.

A jet plane of wing span 20 m is travelling
towards west at a speed of 400 ms-1. If the

earth’s total magnetic field is 4 x 10* T and
the dip angle i1s 30e, at that place, the voltage
difference developed across the ends of the

wing is
Aa)1.6V B)32V
© 08V D64V

Question Id : 37

In the A.C. circuit shown, keeping ‘K’ pressed,
if an iron rod is inserted into the coil, the bulb

in the circuit,
Rod
| | 2277777777777

@©

Bulb Coil
- e
—/ K
AC
(A) glows more brightly

(B) glows less brightly

(O) glows with same brightness (as before the
rod is inserted)
(D) gets damaged

Question Id : 38

The output of a step down transformer is
measured to be 48 V when connected to a
12 w bulb. The value of peak current is

@) 1 A B .2A
2

© 1 D) 1
A
2.2 4A

Question Id : 39

37.

38.

39.

20 <0¢. SR, DON* A T° TWRODTI 2,000 2 F e
400 ms™t BenTQ, PR LI WIRET. & FITY
LRV e, aoéi@@ 4 x107* T onw (dip
angle) 520838 30° BNTY , W FeIT* I Qon® 1Y

BOD0DY. QVOETMO émozszs NPR0BT)
SNTOTT.

A)Ll.6V
(©) 0.8V

B)3.2V
(D) 6.4V

Question Id : 37

29, Spe0RTOTA.C. @cﬁa 3055@55@ wrs ge® ‘K’
oja?\b % m@ma@om uom Gwsad “’d@é&b
Nada@oja e SRDATN, wgow@w@daw @ee,@

AT
| 00000 | 7777777777777)

TOTOY

2\ 1
U/ K
AC

(A) £?,§J T, 5OBRRTRONIZT
(B) 3R T, 50BRRTMIZT

C) LT TFTRRI TROQTOTS (TTYIY, SR0RIT
TWRTED <az:é)

(D) TOPINOZTT

Question Id : 38
20T VT wawarws& 12'W @ewﬁd TOTIETN
SET BRTIBODCRT 535332536 AT 48V
NYTNTOTT. TIMWTT 3,0 DT, T)30T)

A B
@ 1, B) 2A

D
© 1, ® 1,

242 4

Question Id : 39
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40.

41.

42.

43.

A coil of inductive reactance 1/-/3 Qand

resistance 1 Q is connected to a 200 V, 50 Hz
A.C. supply. The time lag between maximum
voltage and current is

@ 1 ® 1
300 600

o 1 D 1
— S — 8
500 200

Question Id : 40
If F and B represent electric and magnetic
field vectors of an electromagnetic wave, the

direction of propagation of the wave is along
A) g ®) B

© ExB D B x E

Question Id : 41

According to Cartesian sign convention, in ray
optics
(A) all distances are taken positive

(B) all distances are taken negative

(C) all distances in the direction of incident ray
are taken positive

(D) all distances in the direction of incident ray
are taken negative

Question Id : 42
A linear object of height 10 cm is kept in front
of a concave mirror of radius of curvature 15
cm, at a distance of 10 cm. The image formed
is
(A) magnified and erect
(B) magnified and inverted
(O) diminished and erect

(D) diminished and inverted

Question Id : 43

40.

41.

42.

43.

1/+/3 QBR), Te08 B,85598 0 1 Q BRegatds
2,000 ;bcb@ojasgtzoo V, 50 Hz A.C.M@E;
BReBITINS. ﬁae—;% sbmg@e SNSRI ébmes?

TIRTNG SRNS FOT Wo0BoY SNTOTT.
@ 1 ® 1

300 600
© 1 ® 1

500 200

Question Id : 40

2,000 DT T 59080 B, E a3 B A5,

6@3 203 @03@@3 mfsa T3ROS Naéﬁ%ﬁzﬂé
eﬁ@"ojo HoSoHd ébso @mrdmm@cﬁo oﬁ@d@ocﬁ
Q0TT

A ®)

© ExB @ B x E

Question Id : 41
FOLICFRAOT® ?,3@ 30D
cﬁoéémxgd@q
(A) 2L, ciradmfaig{ qﬁmé@% DOT TWOMEIRRMOZT
(B) L, TRTNT), 90FOIT 0% TONETINOTH

(C) P, BRTNTDY, TIT 30T DI, TIFF 0T
TOnesReIROET

(D) P, TRTNFD) TII 00 QITQ 90TIZF
OT TWONEIRHTRNOZT

ODIBE  TFT,

Question Id : 42

10 cm QS0 WOT  TeDeO® dwdaﬁo 15 ¢m
/I &, QT W, TIFET mod 10 cm
MUCS@ acsmﬁcf @Cﬁo’wéwou@

(A) dracéz:b 203 ST

(B) dracém B B PO
(C) BT ) e} (D) VIO 302 3 TP

Question Id : 43
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44.

45.

46.

47.

During scattering of light, the amount of
scattering is inversely proportional to

of wavelength of light.
(A) cube

(O) fourth power

(B) square
(D) half

Question Id : 44

In Young’s double-slit experiment if yellow
light is replaced by blue light, the interference

fringes become

(A) wider (B) narrower

(O) brighter (D) darker

According to Huygens principle, during

refraction of light from air to a denser medium
(A) Wavelength and speed decrease

(B) Wavelength and speed increase
(O) Wavelength increases but speed decreases
(D) Wavelength decreases but speed increases

Question Id : 46

In a system of two crossed polarisers, it is
found that the intensity of light from the second
polariser is half from that of first polariser. The
angle between their pass axes is

(A) 45° (B) 60°
© 30° D) o°

Question Id : 47

44.

45.

46.

47.

WIS BTOTORFONG,,  WBTOTVNFOD  Ty: e

93030 emz%d _____ it QERCRRROTIZTOTOZT.
(A) P (B) MY
(©) meﬁe ;wa3§ (D) &TF ﬁb

Question Id : 44

oo I zbfoee;o noz ®,SRMTY IYD wsacs
23%33 @e@ wsacj I3 wcﬁcmoson)cﬁo" w%dm
w@é’ﬁ%’b

(A) @ﬁ@mmgﬁ
(C) B TTTNTDNOS

(B) $0ToM0Z:S
(D) FTTOTI

Question Id : 45

Fro' S B Tgo, R MVO0T  A0T,
I, 338, €07 TROLTN

(A) STOMR0ZT 0B Fen FRZOOTRMOZT

(B) BTOMD0BT 02 &en ﬁmw no3xs

(C) BTOMDOST TUFT STWT Her 3RIOCINNOITI
(D) BTOMROZBT BREOOIIMOBT STT Hen miazgd

Question Id : 46

DT WA, BTG [[IODY,  QTBESe

30, 8500800T wdoédaw ?3@;%5 &033,30320

TRTOZOD mééadsaod WTOETIE BT &ea3,30

@zsrd&&d. SRNG T 3P 1Y SRS TReTH
eSNT.

B) 60°
D) o°

Question Id : 47
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48.

49.

50.

51.

From the following graph of photo current
against collector plate potential, for two
different intensities of light 1, and 1,, one can

conclude

B

:

8/\

o]

=)

—T,
—V(; Collector
Plate potential

A L= 1, B 1> 1,
O < 1

(D) Comparison is not possible.

Question Id : 48

A particle is dropped from a height ‘H’. The
de’Broglie wavelength of the particle depends

on height as
(A) H ®B) H°
(O 12 D g2

Question Id : 49
The scientist who 1s credited with the
discovery of ‘nucleus’ in an atom is
(A) J.J. Thomson (B) Rutherford

(O) Niels Bohr (D) Balmer

Question Id : 50

The energy (in eV) required to excite an
electron from n = 2 to n = 4 state in hydrogen
atom is

(A) +2.55

©

(B)
(D) +4.25

—3.4

—0.85

Question Id : 51

48.

49.

50.

51.

I, 0B I, D0 TR T e, WFET
ROTPFTY,, BE DTT TyomenY ST Feed
FeE QTOTIN  EReORT B3 IFOT, DI
QT OFWTOTINT N0TIT

3,2 A, T

~V, 380° Feer
ARG
A) 1, = 1, ®B) 1,” 1,
© 1< L (D) &oﬁm%mm@m&

Question Id : 48

2,080 8693330, ‘H' DR HFTLOT WePHTNT. BT
@3, 1), BTOMOZTRY) DTTT, dotrt WTLOWBIING.

A H B) H°
© H2 (D) 12

Question Id : 49

2,070 TTRREWIT SRGOIA® T, FowD RT 3¢
B3 QPPN FLRZT
A)JJ. C;Ddbﬁe
(e} Re@i)zﬂmec@

(B) DOTT® F&'e
(D) LRROT

Question Id : 50

QTR T’ TOBREVITY, 20T TF S Ty n = 2

Q0T n = 4 TOIF, VT, 3T WewrdE T3 (eV nYQ)
SNTOTT.

A) + 2.55 B) —-34

(D) +4.25

© -o085

Question Id : 51
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52.

53.

54.

55.

56.

57.

In a nuclear reactor the function of the
Moderator is to decrease
(A) number of neutrons (B) speed of neutrons

(O) escape of neutrons
(D) temperature of the reactor

Question Id : 52

The particles emitted in the decay of **U to
23—1U
a2
(A) 1 aand 2 B
©)laand 1B

(B) 1 aonly
M) 2aand 2B

Question Id : 53

The mass defect of *He is 0.03 u. The binding

energy per nucleon of helium (in MeV) is
(A) 27.93 (B) 6.9825

(©) 2.793 (D) 69.825

Question Id : 54

The energy gap in case of which of the
following is less than 3 eV ?
(A) Copper (B) Iron

(C) Aluminium D) Germanium

Question Id : 55

Which of the following semi-conducting
devices is used as voltage regulator ?
(A) Photo diode (B) LASER diode

(O) Zener diode (D) Solar cell

Question Id : 56
In the three parts of a transistor, ‘Emitter’ is of
(A) moderate size and heavily doped

(B) large size and lightly doped
(O) thin size and heavily doped
(D) large size and moderately doped

Question Id : 57

52.

53.

54.

56.

56.

57.

3,000500009),  [O0TFTO0N  FURR
_____ a’p}( BRT BRI BNG.

(A) BRIRITE R0, (B) BR,WR,INY Fen
(C) SR,ER,TITT RATRTINT
(D) OOONB TS LVRE

ed x)

R HT

Question Id : 52
U o U en godmeromen,

em:iz%s-smmw FEAMTO TR0
A) 132 23

€ 133 18

Question Id : 53

‘He 3 00835 0.03 u. &eAOD0OT LGS 3§ B8
2 ed 3

BREORT A (MeV R¥Q) SNTIT.
(A) 27.93 (B) 6.9825
(C) 2.793 (D) 69.825

Question Id : 54

33 FINTJNGY, OSR@C%{B ATV M3 eV NoZ
FR QTS ?
(A) (B) 5
©) @@raamé’oojao (D) 23305030

Question Id : 55

85 TINT ©T0TE APINGY, CINFTIY, IR
QO08, TN YVTOTRENTOZIT ?
(A) Fpeedne Bodnew® (B) e3T° Bodper®

(C) DeTT* Bodpew® (D) 3°T NabRcy 3ne3

Question Id : 56
LoD R,IFTRYWLE TR YRNRYEY, 2Q0LT
N
(A) BT 198, 30O WY WL TLODTITT

(B) TRT MoE, 30T TRR FRe® TBROOTOZT
(C) 390 MO8, 302D 2303 BRET® TRODTIZT
(D) TRT TE, T 3G, BT BROQTLZT

Question Id : 57
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58. In the figure shown, if the diode forward
voltage drop is 0.2 V, the voltage difference
between A and B is

A
0.2 mA
5kQ
—
5kQ
B
Aal3v B)22V
(OX( D05V

Question Id : 58

5. Which of the following logic gates is
considered as ‘universal’ ?

(A) A:j_qY (B) Ae— —o0——v
© 5 D ®
Y B Y

Question Id : 59

60. A basic communication system consists of
(a) Transmitter
(b) Information source
(c) User of information
(d) Channel
(e) Receiver
The correct sequence of the arrangement is
(A)a,b,c,dand e B)b,a,d,eand c

(O b,d,a,cand e M) b,e,a,dand c

Question Id : 60

W > W

58, SRCOATOR W, TY) , BOIREE® & Fomr @' fyaeezjezsﬁ
®,3° 0.2 VN3, A W) B SRS QyImwodoy

SNTOIT.
A
0.2 mA
5kQ
—
5kQ
B
A) 1.3V (B) 2.2V
(©0 (D) 0.5V

Question Id : 58

59. 8% BTSN 36?@67’1@5@ oira@dsgt TRFR003Re%RT
w%o’ﬁom TWONEIRTONOTT

W Ay o B ey
© O ®

Question Id : 59
60. WO  TR® 30@5m wgwﬁ@om fa@ﬁ%faig(
TROQTOZT.
(a) BeRT
(b) &8 33T
() F0&E0T LVTOINRENTIIT
(d) % =N
(e) Mo,=3
3 wgwﬂoda ROCTINT WRT, 069y 0y TOWT

A) a,b(,pc,dm@ge B)b,a,d, e B¢
(C)b,d,a,cmége (D)b,e,a,dwﬁgc

Question Id : 60
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e Do not remove the seal present on the right hand side of this question booklet.
¢ Do not look inside this question booklet.
e Do not start answering on the OMR Answer Sheet.
IMPORTANT INSTRUCTIONS TO CANDIDATES

1. This question booklet contains 60 questions and each question will have one statement and four distracters.
(Four different options / choices.)

2. After the 3" Bell is rung at 2.40 pm, remove the seal on the right hand side of this question booklet and check
that this booklet does not have any unprinted or torn or missing pages or items etc., if so, get it replaced
immediately by complete test booklet by showing it to Room Invigilator. Read each item and start answering on
the OMR Answer Sheet.

3. During the subsequent 70 minutes :
e Read each question carefully.

e  Choose the correct answer from out of the four available distracters (options / choices) given under
each question / statement.

e  Completely darken / shade the relevant circle with a blue or black ink ballpoint pen against the
question number on the OMR answer sheet.
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If 3.01 = 1022 molecules are removed from
98 mg of H,SO,, then number of moles of
H,SO, left are

(A) 0.1x10*mol (B) 0.5x1072mol

© 166x10*mol M) 995x102mol

Question Id : 1

The correct set of quantum number for the
unpaired electrons of chlorine atom is

A 1 B 1
@ 2,0,0,+= ® 2,1,-1,+=

2 2
C 1 D 1
© 3,1,1,i§ ®) S,B,G,ii

Question Id : 2

The electronegativities of C, N, Si and P are in
the order of
A P<Si<C<N

(©) Si<P<C<N

B) Si<P<N<C
MP<Si<N<C

Question|d: 3
Which of the following structure of a molecule
is expected to have three bond pairs and one

lone pair of electrons ?
(A) Tetrahedral

(O) Pyramidal

(B) Trigonal Planar
(D) Octahedral

Question Id : 4

Which of the following is the correct electron
dot structure of N, 0 molecule ?

A .. B .o _
) ‘N=N=0: ®) :NEIJ{I—Q:
C . .. D

©O :N=N=_Q D) N_N=O

QuestionId : 5

98 2 M0 H,S50, B0z 3.01x 107 eseaonieldy
BB CSATON  GUPOIVT  FLOOF  WERT  TIeEd
SRernYE), |

(A) 0.1x1072 S (B) 051073 HS

(©) 1.66x1073 58 (D) 995« 102 ZReS

QuestionId : 1

BREOT  TORREDIIQTT oI IS
90835 B03 TED B3 De0INPNTOTT
A 1 B 1
@ 2,004+ B o114
2 2
1 D 1
© 311,22 ® 30,042
2 2
C, N, sim® Pr¢ aggdeondono
3 ROTOTES

(A)P<Si<C<N
(C)Si<P<C<N

B)Si<P<N<C
D) P<Si<N<C

Question|d: 3

33 FYTOR TUWRNPY, 0T WRTD 2205303073
Tom 20T e:soiwrl @cﬁ@eﬁomf@(
TRODTWIOTIOTD zoaegmm.

(A) @3’@3@%@@5 (20T WD)

(B) &, IR0 FemoD® (FR0IP0D &,30%)
(C) PTRVTBS* (TRWF3)
(D) WRBHE S (R 30007 8)

Question Id : 4

B3 BYFORINVE, CARTJT  N,0 T BOCIRT 25 7

2858 T3 ARI,TONG

(A) .. (B) + .
N=N=0: N=N-0:

@ Nowv=g P N-x=G

Question|d: 5
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6.

The pressure of real gases is less than that of
ideal gas because of
(A) Intermolecular attraction

(B) Finite size of particles
(O) Increase in the number of collisions

(D) Increase in the kinetic energy of the
molecules

Question Id : 6

Areaction has both AH and AS - ve. The rate

of reaction
(A) increases with increase in temperature

(B) increases with decrease in temperature

(©) remains
temperature

unaffected by change in

(D) cannot be predicted for change 1n
temperature

The equilibrium constant for the reaction
Nz(gj + Gz{g] = ZNG.@ s 4 x10™ at

2000K. In presence of a catalyst the

equilibrium 1is attained ten times faster.
Therefore the equilibrium constant in presence

of catalyst of 2000 K 1s
(A) 40 x 10 B) 4 x 1072
© 4 x 1073 D 4 x 10

QuestionId : 8
'‘Q." is useful in
predicting the direction of the reaction. Which
of the following is incorrect ?

The reaction quotient

(A IfQ, > K, the reverse reaction is
favoured

®) IfQ., < K, the forward reaction is
favoured

O If Q.= K_,no reaction occur

®) If Q.> K, forward reaction is favoured

QuestionId : 9

TOTX LAONY WSBy BTIF  BIONY ugz&%doé
FREWOOTIRNTLO TTED

(A) ©BOBTIT X3 (B) BeanY IO Meg,
(C) PRFTBNY F055,00 TF
(D) LEONT WOT STFODYT T

Question|d : 6

2,000 300009, AH =3 AS addmegsmenmen

©TIT 8,030

(A) emawé @asowdoé @@drb@m

(B) enmmé BRBOCINTI0Z ﬁ?ﬁ?gb@tﬁ)

© mﬁwéoda BT CIRWTe wammmaq JpilelX!
TREROY,

(D) wcf%géojo
mcjsmm@@egq

Qsmﬁaocs QPFOTL0

Question|d: 7

2000K o, Ny + 0,09 = 2NO(y 3,0300%

B2 R TR08Y 4 X 107*  snddmc.
3, ommrswm VO3 ReNITION OZIPIOWOFNL:;
*’mfo\%odaab 533 wé&) @=eneoN  BRODTT,

3, Oif@ﬁd?ﬁﬁ?&@ FRROT é% 3,00000 TR
"’K\QN@OC’D N@Oﬁ@

A 40 x 10* B) 4 x 1072

©O 4 x 1073 D) 4 x 10

Question|d: 8

TIORE 8,080 BB, §,03% wonewry Q. cwos

QP ORWTOT. %@éﬁocs omw efojbojao 3—¢>ﬁc§ ?
(A) Q > K Qﬁﬁczd oom@ % OjJ 3@0533(79’)
C C

®) Q.< K BNTIT TN 8,05 IHOXITYTI
© Q.= K wﬁd@cﬁ O3ReYTe 8,03 FWOTNROY,
® Q.> K BNTT T 8,03 IHOXITYT

Question|d: 9
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10.

11.

12.

13.

3CI0qy—> CIO~ + 2CI~ is an example of

(A) Oxidation reaction (B) Reduction reaction
(O) Disproportionation reaction
(D) Decomposition reaction

QuestionId : 10

In the manufacture of hydrogen from water gas
(CO + H,), which of the following is correct

statement ?
(A) CO 1s oxidized to CQ, with steam in the

catalyst followed by

in alkali.

presence of a
absorption of CO,

B) CO and

difference in their densities.

H, are separated based on

(O) Hydrogen is isolated by diffusion.
(D) H, isremoved by occlusion with pd.

QuestionId : 11
Plaster of Paris is represented as
(A caso, - 1 H,0 ® CaSo0, -H,0
2

(© CaS0,-2H,0 (@ (CasSo,

Addition of mineral acid to an aqueous
solution of Borax, the following compound is
formed

(A) Boron hydride

(C) Meta boric acid

(B) Orthoboric acid
(D) Pyroboric acid

QuestionId: 13

10.

11.

12.

13.

3Cl0gq —>  ClO™ + 2CI°

YUTTIBTTBOIDNS 2

(A) Wéﬁo"ii—‘?@ 3,00 (B) STTRF D 8,00
(C) SRR L0TIRAT QP 3,090

(D) DTYT 3,00

IR §,00n

Question|d: 10

WO (CO+ H,) 0oB THEema=)
T OROON B8 FYT0® oI maséjgojw
@Sﬁ ORI ?

(A) BHODRTHFT FHoDROT T CO &3
VIR QU0 Co, BT TNTY, LeTORIT.

B) C o= H, nYS) RN 70T ZoDY
3,3, STITLOT BT ESHWBOTI

(C) BTER, WY, WHTED 3,030000T 1,3, e3FTOTO

D) H, 3R, p d ONY, SAVTRTENRYRIT TWOT
T3, LSRWTOTO

Question Id : 11

—wce ST° 9,07 S ©E0RRSE,
(A) caso, - = Hz(} (B) Cas0, -H,0
2

(© CaS0, 2H,0 () CaSo,

Question Id : 12

mmses OO mdsa% @@mmwm JeDATN
UOLTITIT ~oo§oo5@
(A) BreT® £C§ =

©) 0T WRCOT® 533,

(B) OTReF WReDT 553
(D) FTRLIRCOT &),

Question Id : 13
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14.

15.

16.

17.

18.

Identify the correct statement in the following :
(A) n-butane and isobutane are functional
1somers

(B) Dimethyl ether and ethanol are chain
1somers

(O) Propan-1-ol and propan-2-ol are position
isomers

(D) Ethanoic acid and methyl methanoate are
position isomers

Question Id : 14

In which of the following, homolytic bond
fission takes place ?
(A) Alkaline hydrolysis of ethyl chloride

(B) Addition of HBr to double bond
(O) Free radical chlorination of methane
(D) Nitration of Benzene

QuestionId : 15

For the preparation of Alkanes, aqueous
solution of sodium or potassium salt of
carboxylic acid is subjected to

(A) Hydrolysis (B) Oxidation

(C) Hydrogenation (D) Electrolysis

QuestionId : 16

Which one of the following is not a common
component of photo-chemical smog ?
(A) Ozone (B) Acrolein

(O) Peroxy acetyl nitrate
(D) Chloro flouro carbons

QuestionId : 17

Which of the following crystal has unit cell
suchthat a # b #canda = p =y #90°?

(A) K,Cr,0, (B) NaNO,

(© KNO, @) K,S0,

QuestionId: 18

14.

15.

16.

17.

18.

JOOTNT meséjzsojo;bq TSR
(A) N-WREET® 0B VARE - WA IO NOFIIT
TRIRONNTD

(B) c%éi)ac;gef i=tloted msg AFPIC NG ZOIP
RRRONNSD

(©) TR, eTe-1 -0l 0B Fp,eTeR® -2 -0l MY m@&
TEROATED ‘

(D) STIRWT &), TF) FS® QG edpeode
M0 TT BIIONTHD

QuestionId : 14

FYFOE 037933 3,030000€) FEFETT LVOEINITITO 2
(A) B5G S ERET AT T2, 8000 WODGRTS

(B) Q200538 HBr 3 Fewr a8
(C) BT U%@%@e Q0T Q0TI EREOVEBTED
(D) W0REIT 3,300

Question|d: 15

sdeany  IoIN0TONY,  TRFIdE EWT
TRCRO0O BT FPLREODO  OWHRT  ®OEOD
ToB|E|I), RRYROZT.

(A) B PRT (B) YUSTFED

(C) TTR, CRETTED

(D) DTT, QNTRS (ST

) CRED)

[ae)

5
Question Id : 16

QWIS CIRYE W8 - TWODIF BRARO0

(Photo Chemical Smog) & 20T mmsé
PLBIN_?
(A) LR (B) ©BR T

(C) D08 LR FE3 et
(D) 3ReTRe FRIME TF’

Question Id : 17

$9807 CIRT BT PUE LocTY S SIODHRY
Zeodd.a £ b Fodd a £ B £y = 900

@A) K,Cr,0, (B) NaNO,

(© KNO, ®) K,S0,

Question Id : 18
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19.

20.

21.

22.

The correct statement regarding defect in

solids is

(A) Frenkel defect is usually favoured by a very
small difference in the sizes of cations and
anions.

(B) Frenkel defect is a dislocation defect.

(O Trapping of proton in the lattice leads to
the formation of F-centers.

(D) Schottky defect has no effect on the
physical properties of solids.

QuestionId : 19
In a face centred cubic arrangement of A and B
atoms in which ‘A’ atoms are at the corners of
the unit cell and ‘B’ atoms are at the face
centers. One of the ‘A’ atom is missing from
one corner in unit cell. The simplest formula of
compound is
(A) A.B,,

©

®) AB,

AB, ®) A, B,

Question Id : 20

Which of the following aqueous solution has
highest freezing point ?
(A) 0.1 molal AL, (S0,),

(B) 0.1 molal BaCl,

(O 0.1 molal AlICI, (D)0.1 molal NH,CI

Question Id : 21

The Vant Hoff’s factor ‘1’ accounts for
(A) extent of solubility of solute

(B) extent of dissociation of solute
(O) extent of dissolution of solute
(D) extent of mobility of solute

Question Id : 22

19.

20.

21.

22.

PING IRTIR BOWOTTI0Z  CXRET  539,85,030
TOOTNRNT 2
(A) TEFOCINT® T &TWANT® NY M, TY, ¥
T 33T WTION &, 03 TR.IS YVOLIMITYTO
%57 o' D s
(B) B0 3@33&3533 @m@@eﬁdw 5@55305337\(3

(C) T, CLRITIH POTBY, WORTOERNF 5603, nsd
SVOERNOZT

(D) A, SRSE PITJRONT I MOLOFLANT [oed
omcfg)de wa—amwm 083 mm@m

Question|d: 19

A 0B B TTBREDNTIY, BROOTOT B0DFe0R,8
FIFEODNY, A TORREONY  DRSNFYoI0 B
FEOMSD  S0DFEOT,TYCD AWTR.  PWT T3
WOTD TR FEAY TRZWOOIRTT 88 FOOLIFT £8)
RR3,%y

A) AB,,
©

®) A,B,
AB, D) A,B,

Question Id : 20

B3 BYFOT OB0e3 WO 109,695y B8 TN FPRCTTED
WOTO TRODT ?

(A) 0.1 BRCTOSE Al (804]3
B) 0.1 RRECTHESE BBCIZ

(©) 0.1 =R AlCL,
D) 0.1 SReCR* NH‘LCI

Queston d:21
339,08%° — ToFp* NOFEI0T T’ AT BOWOTITEITI

(A) TR),T3 QOB ):ed

(B) T2)33,T3 07300 T3330€0

(C) T,T 2IeSI0 )69

(D) T235,T BWOTSCOZOD T,0ed

Question Id : 22

23
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23.

24.

25.

When the pure solvent diffuses out of the
solution  through the semi-permeable

membrane then the process is called

(A) Osmosis (B) Reverse osmosis
(O) Sorption (D) Dialysis

Question Id : 23
The standard reduction potential at 298 K for
the following half cell reaction

ZnZt, +2e ——ZnE° =- 0.762V

(ag)
Crig + 3e—— Cr¢y E° = 0.740V

Fz{g] + 2e —}ZFanJ E°* = 287V

Which of the following is strongest reducing
agent ?

A) ZH{S] B) CI‘(SJ

© H,y @) Fyqy

Question Id : 24

NaClO, is
NaCl0O, according to the

By passing electric current,

converted 1into

following equation
NaClO, + H,0 —— NaClO, + H,

How many moles of NaCl0, will be formed

when three Faradays of charge is passed
through NaCl0, ?

(A) 0.75
© 1.5

B) 1.0
M) 3.0

Question Id : 25

23.

24,

25,

T3, 5360000T3 30T 09,3369y SRERT (Semipermeable
membrane) @RV TTIRTED TROTOT 8,0300308)
&oeri) T

(A) BTTTLD 8,03 (B) DTT TTATED 8,05
(C) BReReD (D) T0NEO

Question Id : 23

298 K 39, 395030 wgirdned 3,00n¢ % wiswrs
DPISRRO &oeNas

InZ', + 2e ——Zny E° =- 0.762V

(ag)
Crig + 3e—— Crg E° = 0.740V

Fz{g] + 2e — ZFan_-] E°* = 2.87V
VRINTE TR 98 T2 LSTIRE EITIOOTNNG ?
(A) ZH(SJ (B) CI‘(SJ

© H, D) F,y

Question Id : 24

DT,3R0, T Bt §YFOT TRRODIE 3,0300308
NaClO; 3 NaCl0, os»N TOmSFRwTOT.

NaClO; + H,0 —— NaCiO, + H,
TRTO  FORODT), AWFIY NaCl0, =oees
ToorTRN AR NaCl0, S B0, Speef v

A) 0.75
© 15

®) 1.0
D) 3.0

Question Id : 25

24
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26.

27.

28.

In the electrolysis of aqueous sodium chloride
solution, which of the half cell reaction will
occur at anode ?

(A) Naf, + e"—— Nagy
E? = —2.71volts

(B) 2H (}{D—> 0, 4H*+ 4e
E 1.23 volts

cell —
(C) H'i;lq:] + E_—> EHz

E_ ., = 0.00volts

cell
®) Clgg—> >+

E ., = 1.36volts

cell

Question Id : 26
Which of the following statement is in
accordance with the Arrhenius equation ?
(A) Rate of a reaction increases with increase
in temperature

(B) Rate of a reaction increases with decrease
in activation energy

(O) Rate constant decreases exponentially with
increase in temperature

(D) Rate of reaction does not change with
increase in activation energy

Question Id : 27

Which of the following statement is incorrect ?
(A) The rate law for any reaction cannot be
determined experimentally

(B) Complex reactions have fractional order.

© Biomolecular reactions mnvolve

simultaneous collision between two species

(D) Molecularity is only

elementary reaction.

applicable for

Question Id : 28

26.

27.

28.

RSO0 R e%cse OO o, mwm
aam @wumme;w@n)mﬁ <) JRewRE, 3@0&1}5
@wrﬁ@es 3,00

A Na{aq] + e —>Nay E° =

—2.71

(B) ZHZG{I:] e 02+ 4H++ 49_

E’ Rpee

cell

= 1.23

: Rpeet
E._, = 0.00%F,

®) Clp—> S cL+e
E, = 1.36 W%

Question Id : 26

0l FFBOT 99,85,0000 wTeFONFI N&oesdsaa

EIROTVEITINT 2

(A) OVFZONT) Twpmwen TIOLIT & 0IREen
T OO

(B) TEOTTD T  BRZOOINTOZ  3,030Feney
IO

C) VOHE TH)EOT Fen 3,0009085y 3TFFRSe03ToN
BRTOOIRMOTYTIO

(D) TOTTED IO TNHRODFOID  TIIODT
8,0dmaens  @0ed  cdRYue  TOFOITI, 0830
BRRROY,

Question Id : 27

B3 BYBOTBRNTQ, 03793 299,83, T NI ?

(A) Fernd JoDTTIY,  cIReYTe T, 0dpennvoss
FOT LBODTRMOROY,

(B) R08eeaf 8,00MED 3088 S[ned 8, 00NToNS

(C) TOIREIT 3,000, HTR BNy FROH FETIT

ROTHES SO WTOMITITO
orIBgoDn  W,HA0B

e:aaéoﬁomrbajgcﬁo

godnert =g,

(D)

Question Id : 28

25
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29.

30.

31.

32.

33.

34.

For a reaction %A—} 2B rate of

disappearance of A is related to rate of
appearance of B by the expression

@ -d[a] _, d[B] ®) -d[a] _ 1 d[B]

dt dt dt 4 dt
© -d[A] 1d[B] ® -d[A] d[B]
dt 2 dt dt ~  dt

Question Id : 29
The process which is responsible for the
formation of delta at a place where rivers
meets the sea is

(A) Coagulation (B) Colloid formation

(D) Peptization

Question Id : 30
Hydrogenation of vegetable oils in presence of
finely divided Nickel as catalyst. The reaction
18
(A) Heterogeneous catalysis

(O©) Emulsification

(B) Homogeneous catalysis
(O) Enzyme catalysed reaction
(D) Liquid catalysed reaction

Question Id : 31
Which of the following is not a favourable
condition for physical adsorption ?
(A) High temperature  (B) High pressure

(O) Higher critical temperature of adsorbate
(D) Low temperature

Question Id : 32

The metal extracted by leaching with a cyanide
18
A)

Al (B) Ag

© Cu (D) Na

Question Id : 33

Extraction of chlorine from brine solution is
based on
(A) Oxidation

(O) Reduction

(B) Chlorination
(D) Acidification

Question Id : 34

29.

30.

31.

32.

33.

34.

~ A——> 2B TmORE 805009, A o FOF0

FRTOOINRMINFTOI0 B FoT300 émwrbébﬁoirao@ﬁ s
TACTTEIR0TI FOLWOPHTWIITO

@) -dla] _, dB] ®) -d[a] 1 d[g]

dt dt dt 4 dt
© -d[A] 3 1 d[B] (D) -d[A] B d[B]
dt 2 dt dt ~  dt

Question Id : 29

SONE FBNT)TSY, FeTOTY, YVOERNIT BERNRVT 33
,8,030 To0ING.
(A) ﬁd%ﬁ@iﬁa@@

(©) @me?fdsa

(B) TOC© GV0ETNINT
(D) of)’of’.gj@%dsa

Question Id : 30
3‘523%523 %@ﬁ?ﬁ% SOLNTIT RDRTRTTYTOD 205666
RENDPFT  FTICDROT %Cﬁ@@%@@ﬁém@m. =]

BYBOT 3,0001 2,000 YVTOTBTH
(A) DeDECOT 8, 0TNBTES

(B) F208e00 3,0000=TF S
(C) $ETWRR TR0 8 PR S
(D) BART 8,03NTTFS

Question Id : 31
RST ORTRCRTBR B3 FTITOR TN QWOGPNOIND
BTN, ?
(A) BBR TR (B) DU L33
(€ ©OIRRER TS Zodn
TROQTOZT ‘

(D) TR ToTRS

SOTRRI

Question Id : 32

evipi] ememmq :o;ﬁdzse &2{ @w@ps RPIV0T
cmcgbc% RRYRITIT

(A) Al (B) Ag
(€) Cu (D) Na

Question Id : 33
B, T[0T ERLODT  BoIROROFCIN
GVOEIMONTOR T, 8,0300320 STORT.

(A) @m@iﬁi—‘?@ (B) BREODEETED

(C) ST/RFD (D) SeRTTD

Question Id : 34

26
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35.

36.

37.

38.

39.

Which of the following element forms p_ -p,

bond with itself ?
AN B) P
(©) Se D) Te

Question Id : 35

Which one of the following metallic oxide
exhibit amphoteric nature ?

A) Ca0 (B) Na,0

(© Ba0 @) ALO0,

Question Id : 36

Select wrong chemical reaction among the
following :

(AMnO, + 4HCI —>
Cl, + 2H,0

MnCL,+

(B) 8NH, + 3Cl,—> 6NH,Cl +N,

(© 2NaOH+ ClL,—— 2NaCl+ H,+ 0,

(D)2Ca(0H), +
CaCl, + 2H,0

2Cl,—> Ca(0Cl), +

Which one of the following noble gas has an
unusual property of diffusing through the
materials such as rubber, glass or plastic ?
(A) Ne (B) Ar
(O Kr (D) He

Question Id : 38
The magnetic nature of elements depends on
the presence of unpaired electrons. Identify the
configuration of transition elements which

shows highest magnetic moment ?
(A) 3d7 (B) 34d°

© 34d° (D) 34°

Question Id : 39

35.

36.

37.

38.

39.

85 TYTOR OIRT HBINT TORRERNL ITBRINA
Pz - Py WOTTIY, TROTWYY ?

AN ®) P

(©) Se D) Te

Question Id : 35

33 TYBORINGY, OIS SRBT &T @ ST 08
OBETIY, BWEFAET ?

A) Ca0 (B) Na,0

(© Ba0 @) A0,

Question Id : 36

FINRINTS, IS TWODIB 80000

roTO8R.
(AMnO, + 4HCI —— MnCL,* CI, + 2H,0

(B) 8NH, + 3Cl,—> 6NH,Cl +N,
(© 2NaOH+ Cl,— 2NaCl + H,+ O,

(D)2Ca(OH), +
CaCl, + 2H,0

2Cl,—> Cca(oCl), *

Question Id : 37

o’wcﬁ I T 1%%035 TRONG [T

émd—a momwow @wms o3 mm
TRODTOT 3, ¢F WA

(A) Ne (B) Ar

(C) Kr (D) He

Question Id : 38

eprclateliplekiove Gssamfo LRNTYTON e:aoiuﬁ
2T STY NO@j 03353 ORWOOVT. B3 FINS oma
xo_@ms@ méaém @eﬁa‘o)se DIATY T Fo0SOD
32,30,8 TROOT

(A) 3d7
© 34d°

B) 34d°
(D) 342

Question Id : 39

27
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40.

41.

42.

43.

Which of the following statement is wrong

regarding Lanthanoids ?

(A Ln(IIl) compounds
colourless.

are  generally

(B) Ln(III) compounds are predominantly ionic
in character.

(O The ionic size of Ln(III) ions decreases
with increasing atomic number.

(D) Ln(IIl) hydroxides are mainly basic in
nature.

Question Id : 40

Square planar complex of the type M xg.

(where A, B, X and L are unidentate ligands)
shows following set of isomers
(A) Two cis and one trans

(B) Two trans and one cis
(O) Two cis and two trans

(D) Three cis and one trans

Question Id : 41

According to crystal field theory, the M - L
bond in a complex is
(A) purely 1onic (B) purely covalent

(O) purely co-ordinate (D) partially covalent

Question Id : 42

The co-ordination number and the oxidation
state of the element ‘M’ in the complex
[M(en), (C,0,)] NO, {where (en) is ethan-1,

2 — diamine} are respectively

(A) 6 and 3 (B) 6 and 2
(©) 4 and 2 D) 4 and 3

Question Id : 43

40.

41.

42.

43.

emesoz:;s’%cseﬁ@ﬁ ;a’owoc:wéijoé 33 FYBO® O

mga%ojw @&&mmﬁ&@@q(é@) ?

(A) mmsgmﬂLn(III)xoomgmfo ws%wag
TROQTORDY,

(B) Ln(III) 3003008R @zsawﬂ E903TT @ﬁfamfa’;%
TROQTOIR

©) mmsémﬁLn(IH)eﬁomsmf Cloveris] %zse@
TTIED méﬁ?j @mwzﬁoé BRWOCTINOTYTIO

(D);f;gg;ﬁ@i ST TN 59 000D CBENTTY

Question Id : 40

Myyp, RNRTOOD T3 PF Foderarny) &3
FNZ0S xwmme;:% TROOT (A, B, X020 L
QDBT0Z @emgow NneoNRD)

(A) TR AFF 3B LOT @395;
(B) QT é‘a‘_a)aimég 200030 JE°
(C) TR AT® 38 TR @’3952
(D) STV AT T 2,070 &3@52
Question Id : 41

N33 Rodeear YOI M — L
pAelany)

(A) ROTPEIF LOINVF*

(B) ROTPEF xwdeeﬁé% o0

(C) ROTPEDF BIIOWe (D) ©Te BHBSY 0B

308, ATOITIOD

) &) <

Question Id : 42

[M(en), (C,0,4)] NO, wow Zodecor T M 02
PRI AROTOC  Foas, W) LUITFED e
3,300 [en = S57e*-1, 2 -B T
(A) 6 30303 (B) 6 &30 2

(C) 4 &2 (D) 4 0303

Question Id : 43

28
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44. Toluene reacts with halogen in presence of

45.

46.

47.

Iron (IIT) chloride giving ortho and para halo
compounds. The reaction is
(A) Electrophilic elimination reaction

(B) Electrophilic substitution reaction
(O) Free radical addition reaction

(D) Nucleophilic substitution reaction
Question Id : 44
In the following sequence of reactions
CHBr BN o HO
B LiA/H 4 C
The end product C is
(A) Acetone

(O) Acetaldehyde

(B) Methane
(D) Ethyl Alcohol

Question Id : 45

Which of the following order is true regarding
the acidic nature of phenol ?
(A) Phenol > O-cresol > O-nitrophenol

(B) O-cresol < phenol < O-nitrophenol
(O) phenol < O-cresol > O-nitrophenol
(D) phenol < O-cresol < O-nitrophenol

Question Id : 46

Which of the following reagent cannot be used
to oxidize primary alcohols to aldehydes ?
(A) Cr0, in anhydrous medium

(B) KMnO, in acidic medium

(O) Pyridinium chloro chromate
(D) Heating in presence of Cu at 573 K

Question Id : 47

44,

45.

46.

47.

5?.39@ (II1) '&raedcs% Jpors) éoﬁa@ BRI
G=p) eimeu&fﬁfao@ﬁ wém @zﬁmr msa 7,09
=) eirae Noomswm 0830 TRRITT.

(A) @mémmgmrs 3,03

(B) WT,TE008 &5T3edT 8,00
(C) BT T3, BFS'S HOTOT 3,00
(D) SR,3£030T208 T3S 3,00

Question Id : 44

33 FPBOW 908,330 8,03000€ 90833 eméﬁ@ (C)

CH,Br— RN o HO |
B LiA/H, C
(A) DR (B) S0eGeR*
(©) eﬁmsae%ed@dw (D) é%c;gef eﬁeir%em@e

Question Id : 45

00 BYFOR LT 1Y =R EeeEsodw,
SIYNY S0 ©FET STOMEITNGS | OTHNGS 2
(A) ¥ > 0-FT > O -FEdR, T’

(B) O-330¢ < YT < O-FR e’
(C) ¥ < O-FT* > O-FEdR, eI’
(D) YT < O-FIF < O-FiR,e YT

Question Id : 46

03 TYFOTW 8,03RFITFRTIY GVTOARENR T3, B
SdRTICTIVIY, SOTTN VXTI T, ?
(A) IBFOXD g, (B) TNED KMpQ,

(C) $ORION0 BRETRE R z0ee*
(D) 573 K 3¢ Cu S0007t 52000370

Question Id : 47

29
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48.

49.

50.

Cannizzaro’s reaction is an example of auto
oxidation

(A) It is a typical reaction of aliphatic
aldehyde.

(B) It 1s a reaction answered only by aromatic
aldehydes.

(O) It is a reaction answered by all aldehydes.

(D) It is a reaction answered by only aldehydes
containing o -hydrogen.
Question Id : 48

Lower members of aliphatic carboxylic acid
are soluble in water. This is due to
(A) Formation of hydrogen bonds with water.

(B) Van der-Waals interaction with water
molecules.

(C) Water 1s non electrolyte

(D) Due to London forces
Question Id : 49

The correct order of increasing basic nature for
the bases NH,, CH;NH, and (CH,;),NH in

aqueous solutions
(A) CH;NH, < NH; < (CH;),NH

(B) (CH;),NH< NH,< CH,NH,
(© NH,< CH,NH,< (CH,),NH
D) CH,NH, < (CH;),NH< NH,

Question Id : 50

48.

49.

50.

79, e3TRE 3,030 FOI0 YVFRF €9 8,03003 2.0
YVTTTD
(A) 33 8,0300000 O, 835° WOZ TN FOWORAT

(B) O, STREERLWEF «OZENDH S §odn
R 0QROTITO
(C) PR, WIDT® ITd B3 3,051 FOOROTI

(D) o~ JTEREITIRY TeoDWN WOTTT [N,
83 8,051 A oDRITH

Question Id : 48

OTWE FoRF 3T Wi 3erdodd WRBY TOY

SN V0T TTNOZS. f&@’@é pietan

(A) eOTRODN  FZERRI®  WOTHRY  YVOLD
BREIS

(B) DeOSRODN T T 20 & £08T° 8,050
(C) QETO DT, QFEHODTY,
(D) QOTT® LT TR0

Question Id : 49

%00 w=enY NH,;, CH3;NH, 35

(CH;),NH <omne ®mzo,a0e00 ogeany 0ogod
3w
(A) CH;NH, € NH; < (CH;),NH

(B) (CH;),NH< NH, < CH,NH,
(© NH, < CH,NH, < (CH,),NH
(D) CH,NH, < (CH;),NH< NH,

Question Id : 50
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51. The product formed during the following

reaction are

CH;
|

CH,- C —O-CH,+HI— "’
|
CH;

(A) CH,
|
CH,OH+CH,- C -1
|
CH,

(B) CH,
|
CH,1+CH,- C -OH
|
CH,

© CH;
|
CH,O0I+H;C- C -H

|
CH,

(D) CH;
|
CH,+H;C - ¢ -OI

|
CH,

Question Id : 51

51. TYBORE TTODAZ 3,000 euoEndm 8,035

em?g) Q{ ned

CHj3

|
CH,- C -O-CH, +HI—?

|
CH;

() CH,
|
CH,OH+CH,- C -1

|
CH,

(B) CH,
|
CH,I+CH,- C -OH

|
CH,

© ClLs

|
CH,OI+H;C- ¢ -H

|
CH,

(D) CH:

|
CH,+H;C - ¢ -0I

|
CH,

Question Id : 51
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52.

53.

54.

55.

Reduction of ketones cannot be carried out

with which of the following reagents ?

(A) Sodium borohydride or Lithium Aluminium
hydride

(B) Zinc amalgam and concentrated HCI

(O) Hydrazine and KOH 1n ethylene glycol

(D) Hydrogen in presence of palladium in
Barium sulphate and quinoline

Question Id : 52

Gabriel phthalimide synthesis is used in the
preparation of primary amine from
phthalimide, which of the following reagent is
not used during the process ?

(A) KOH (B) NaOH

(O) HCI (D) Alkyl Halides

Question Id : 53

The Glycosidic linkage present in sucrose is
between

A) C—1 ofaglucose and (C—2 ofp-
fructose

B) C—1 ofa-gluicose and (C—4 ofo-
glucose

(O C—1 ofB-galactose and (C—4 ofa-

glucose
(D) C — 1 of a-glucose and C — 4 of B-fructose

Question Id : 54

Hormones are secreted by ductless glands of
human body. lodine containing hormone is

(A) Insulin (B) Thyroxine

(O) Testosterone (D) Adrenoline

Question Id : 55

52.

53.

54,

55.

03 FFBOT §,0INTITTRI), GVTOIRENR 3t

mf:oq BTFAFALD T TTORYRY, ?

(A) RARCBODO UWRTRHHE,F ©Hn  OPODO
BO)QVO0 HTE, T

(B) 0T STWRORF 30D TWO (]

(©) FTOF 1§, 5o IO F@, 2 353 KOH

(D) TIRODOT  WTRSODY, FERRI' T
w”e@oﬁao xeﬁew‘ Ch) iﬁme@as

Question Id : 52
PORNENOOT Mo, W, 0N TORE HoFeReo
DTIVOT  T,TWT  BIRIWY, FOIRORON B3
TIBTOT ,000950083TY, WIAIFOY,
(A) KOH (B) NaOH

(o) HCI (D) @QZ W& maseg@e nso
Question Id : 53

B8R, CAROTOR 13, a@m@s@ BERETFHBOI0
A) a~ marae TS 0 — 153338 wﬁfae TS -2

[9 330

(B) q~TRIRETZ (¢ _ 1 O o—NRZRTT ¢ _ 4
[9 330

(O B-TROIRETT (o _ 1 W o-NRERT'S
C — 4 7Y IR0

(D) o TRIRAT (1 R B-FIKFT ¢4
[v 330

IEDI BeBEODS  DF? R

TITWRLFINTIY, B,0ROTR. 03ReRIIY, TROLTOI
ToRRFD

(A) AR (B) FOT
©) @%@%}d@@@e (D) 88,39

Question Id : 55
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56.

57.

58.

59.

Pick the wrong statement from the following :
(A) Sources of Vitamin B, are yeast, milk,

green vegetables and cereals
(B) Deficiency of Vitamin B, (pyridoxime)
results in convulsions

(C) Consumption of citrus fruits and green leafy
vegetables in food prevents scurvy

(D) Deficiency of vitamin D causes

xerophthalmia
The monomer used in Novolac, a polymer used
1n paints
(A) Phenol and Formaldehyde
(B) Melamine and Formaldehyde
(O) Butadiene and Styrene

(D) Butadiene and Acrylo Nitrile

Which of the following is not a biodegradable

polymer ?

(A) Polyhydroxy butyrate — CO — B hydroxy
valerate

(B) pHBV

(O) Nylon 2-Nylon-6 (D) Glyptol

Question Id : 58

Bactericidal antibiotics among the following is
(A) Ofloxacin (B) Erythromycin

(O) Tetracycline (D) Chloramphenicol

Question Id : 59

56.

57.

58.

59.

FIBORINTY, BT T TewTOTY, TOTOER.
(A) S5T, TOLO, TATO FTEO =Y ¥ TNTY
QEIT® B, Relovicing

(B) VWO B, BRUZ0VOT 3T BB
QVOEINIZT
(C) PBT TERMO 0BY TITO HTOTF STTONY

Newﬁ m;)r draeriwaﬁo chmsuaacﬁo

(D) DWT*- D 30030 FTReTY0D Tpens=s)
SVOLDRRBIZT

Question Id : 56

TEOWOWTTY WIRIT SRTT TIRT® SQYTOH
TRRRCTIT® NF

(A) ST TR mﬁnr@%cﬁ

(B) S0ORT* 308 pomne R

(C) LR, ERTHFOET* 03D ﬂwaéeﬁe

(D) LR ERTFOWET* 03 T, dpe Fis,

Question Id : 57

TYFOW 003 TITOT® BT DTS BROTIPHY, ?

(A) TOFES, WOHIE o — g HIE
moTeEF

(B) pHBV

(O) T2 FHF-6 (D) WM

Question Id : 58

T3 FTSBOW OIRm  BeRITRTIR) mﬁieéom
T0TBTONT ?
(A) WITRFA
(C) BRI

(B) 20GR, Gﬁ%ﬁi@s
(D) BRET0T®

Question Id : 59
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60.

Pick the correct statement among the
following :

(A) Cetyl trimethyl ammonium bromide is a
popular cationic detergent used in air
conditioner

(B) Non-ionic detergents is formed when
polyethylene glycol reacts with adipic acid

(O Sodium dodecyl benzene sulphonate used
in tooth paste is a cationic detergent.

(D) Sodium lauryl sulphate forms an insoluble
scum with hard water.

Question Id : 60

60, BFBOWRNTY FOOINT 559,85,0IT, TOTOSR.

(A) FOTIIBRONYY, AEE* &, QTP &ERe0D0
3R, eTR, AT, TN 9, 83033005
BRWF TN WFRITIT.

B) T PO 1§ 5o WRUT STRODN [EF R
BOSRAT WQTI TR TBR), YVOLITRETT.

(0) RREROI0 céracﬁ%cﬁ W3St mﬁfaeﬁe@sm L3R
wef\) nee, D @5055@8036 dm:r%mﬁ muamd

(D) TREBOID0 emf@s Nej’ew NERY Ae0JRolT
BSFR BNACO 55 @553 083D DR,

Question Id : 60
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02-05-2017 MATHEMATICS 2.30 pm to 3.50 pm
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MENTION YOUR CET NUMBER QUESTION BOOKLET DETAILS
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XXXXXX
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1. Check whether the CET No. has been entered and shaded in the respective circles on the OMR Answer Sheet.

2. This question booklet is issued to you by the invigilator after the 2™ bell i.e., after 2.30 pm.

3. The Version Code / Serial Number of this question booklet should be entered on the OMR Answer Sheet and the
respective circles should also be shaded completely.

4.  Compulsorily affix the complete signature at the bottom portion of the OMR Answer Sheet in the space provided.

DONTs :
1. The timing and marks printed on the OMR Answer Sheet should not be damaged / mutilated / spoiled.
2. The 3" Bell rings at 2.40 pm, till then;
e Do not remove the seal present on the right hand side of this question booklet.
¢ Do not look inside this question booklet.
e Do not start answering on the OMR Answer Sheet.
IMPORTANT INSTRUCTIONS TO CANDIDATES

1. This question booklet contains 60 questions and each question will have one statement and four distracters.
(Four different options / choices.)

2. After the 3" Bell is rung at 2.40 pm, remove the seal on the right hand side of this question booklet and check
that this booklet does not have any unprinted or torn or missing pages or items etc., if so, get it replaced
immediately by complete test booklet by showing it to Room Invigilator. Read each item and start answering on
the OMR Answer Sheet.

3. During the subsequent 70 minutes :
e Read each question carefully.

e  Choose the correct answer from out of the four available distracters (options / choices) given under
each question / statement.

e  Completely darken / shade the relevant circle with a blue or black ink ballpoint pen against the
question number on the OMR answer sheet.

Correct Method of shading the circles on the OMR Answer Sheet is :

>

Please note that even a minute unintended ink dot on the OMR Answer Sheet will also be recognized and
recorded by the scanner. Therefore, avoid multiple markings of any kind on the OMR Answer Sheet.

5. Use the space provided on each page of the question booklet for Rough Work. Do not use the OMR Answer
Sheet for the same.

6.  After the last bell is rung at 3.50 pm, stop writing on the OMR Answer Sheet and affix your left hand thumb
impression on the OMR Answer Sheet as per the instructions.

~

Hand over the OMR Answer Sheet to the room invigilator as it is.

@

After separating the top sheet (KEA copy), the invigilator will return the bottom sheet replica (Candidate’s copy)
to you to carry home for self evaluation.

9.  Preserve the replica of the OMR Answer Sheet for a minimum period of ONE year.

10. In case of any discrepancy in the English and Kannada versions, the English version will be taken as final.
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If A and B are finite setsand A =B, then
(A) n(AuB)=n(A) B) nAnB)=n(B)
(© nAuB)=n(B) D) nAnB)=¢

The value of
cos? 45° — sin? 15°1s

@ 3 ® 3
2 4
© 3+ ® 3-1
22 22
3+5+7+....tontermis
(A) n(n + 2) ®) n(n —2)
© n* D (n+1)°

QuestionId : 3

g » 110
If ( i) = 1, then the least positive integral

1-1
value of mis
A) 2 B)3
O 4 D) 1

Question Id : 4
If |x—2/<1,then

(A) xe€[1,3] (B) xe(1,3)

€ xe[-1,3) D) xe(-13)

QuestionId : 5

If "c_,= "C, thennisequal to

(A) 26 B) 12
© 6 (D) 20

The total number of terms in the expansion of
(x+a)""— (x—a)" after simplification is

(A) 24 (B) 47

(©) 48 (D) 96

Question|d: 7

A 032 B S0 BORIE Rearishd 3 A C B €T3

(A) n(AuB)=1(A)  (B) n@anB)=n(B)

Question|d: 1

cos? 45° — sin? 15° © L3o3»

@ .3 ® /3
2 4
© J3+1 ™ ./3-1

2.2 2.2

Question|d : 2

34547 + ... T n TANYIONS BRST B3S

(A)n(n +2) B) n(n —2)
© n’ M (1 +1)

Question|d:3

LI
(11“) - 1 ©TTm 3 3T, PYE TrCS
—1

33
(A) 2 (B) 3
©) 4 (D) 1

Question|d : 4
lx —2| £ 1 <83

(A xe[1,3] (B) xe(1,3)

©O xe[-13) D) xe(-1,3)

Question|d: 5

’C,= "C, ©3dn 3 IS0

(A) 26 (B) 12
(O (D) 20
(x+a)"— (x—a)" B, VPO BoFers 03T
2830 TINY xosj?s
(A) 24 (B) 47
(C) 48 (D) 96

Question|d: 7
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10.

11.

12.

Equation of line passing through the point
(1,2) and perpendicular to the line y = 3x —1
is

(A) x+3y—7=0 B) x+3y+7=0

© x+3y=0 (D) x-3y=0
QuestionId : 8

2 2

The eccentricity of the ellipse Yoy Y
36 16
1s
A 2./5 ® 2./5
6 4
© 243 ® 2.13
6 4

Question|d: 9

The perpendicular distance of the point
P(6,7,8) from XY-plane is

A8 ®) 7

© 6 D)5

The value of _lim Mis
601 _cos 60

(A) 4/9 (B) 9/4

© 9/3 D) 3/4

QuestionId : 11

The contrapositive statement of the statement
“If x is prime number, then x isodd” is

(A) If x is not a prime number, then xis not
odd

(B) If xis a prime number, then xis not odd.
(O) If x is not a prime number, then xis odd.

M) If x 1s not odd, then xis not a prime
number.

QuestionId: 12

8.

10.

11.

12.

(1,2) WOTNT RWT TIOINTAETH 03

v = 3x — 1 ITY Teadnt ©0wmaNtds ITF Seadod
TCTTEIR)

(A) x+3y-7=0 B) x+3y+7=0

© x+3y=0 M) x-3y=0
DEPFeRZ X + y =1 em%eo@zﬁ s
36 16
6 4
© 2./13 @ 2./13
6 4

Question|d: 9

XY TZ03000T  P(6,7,8) WOTINT ©0WBRTT 3

(A) 8 B) 7
(O (D) 3
y 1—cos 46
m 73935030
6->0]_—cos 60
(A)4/9 (B) 9/4
(©) 9/3 (D) 3/4

Question Id : 11

“ xwoT SARSE xogjzs BSTT 1 x WO TR
R033,” AT QWO TEYFOD T)SHS Tevs
(A) x0T SIVARS majgojacgqmﬁ X WOTO 233
xogjéojoegw
X 0T SRR, OIRTIN x 1.0 W3R

:So‘;ﬁzsojoeg,>

X 2000 SRS :Sogjzsojoegﬁmﬁ X WOTH 233
xo&%

X 2000 W B0a00QIIN x L.OT BT,
:30&323053@3,>

(B)

©

(D)

Question Id : 12
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13.

14.

15.

16.

17.

18.

If coefficient of variation 1s 60 and standard
deviation is 24, then Arithmetic mean is
(A) 40 B) 7/20

(© 20/7 (D) 1/40

The range of the function f(x) = _/9—x? is
) (0, 3) ®) [0, 3]
©) (0, 3] () [0, 3)

Question Id : 14

Let f:R — R bedefined by f(x)= 4*, then
(A) fis one-one and onto

(B) f may be one-one and onto

(O fis one-one but not onto

(D) f 1s neither one-one nor onto

(B) (—n n)
272
D) T
[0, 7] — {5}

QuestionId: 16

QuestionId : 15

The range of sec1x 1s

(4) [—n n}
272

©) [0, 7]

- - 4 - -
If tan™'x + tan"'y = ?n, then cot™x+ cot™ly

is equal to
(A) n ® w
5
© 2=n @) 3n
5 5

If f(x)= 8x3 g(x)= x*/3, then fog(x)is
(A) 8x B) 83*x
© (8x)1/ D) gy

QuestionId: 18

13.

14.

15.

16.

17.

18.

WO TZROJNG TRLFT MOTI0T 6 0 3030 RNTF
WO 24 3TN 33T wam?jo%d o33

(A) 40 B) 7/20
(©) 20/7 (D) 1/40
f(x) = ./9—x? méﬁgﬁ WOWNEIR)
) (0, 3) @) [0, 3]
(©) (0, 3] ) [0, 3)
f:R—>R «33 f(x) = x* Q0T

239,809, DRV LN

(A) f 20T0-2,0830 &02) Foewed wéﬁ{mﬁd&gd
(B) f 2.0T0-2,0830 02) Foewed w%@{mﬁwmm
(C) f 20T~ 2,00 BTWT T0ewed WBJBY,

(D) f 20002070 8, TOBI Foewrasyp B,

Question Id : 15

sec™lx QUIZT WOWNENY

(A) [—n n} (B) (—n nj
272 272

O [0, 7] (D) 0, 7] {g}

- - 4 - -
tan"'x+ tan"ly = ?TE B3 cot™'x+ cotTly T

u3S

Question Id : 16

@) n ®)
5

© 2n ®) 37
5 5

Question Id : 17

f(x) = 8x3, g(x)= x? =538 fog(x) B W3S
(A) 8x B) 83x

© (8x)1/3 (D) 83

Question Id : 18
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19.

20.

21.

22.

sin ' (7x) tan_l(fj

If A=l . T
T sin_l(ij cot ' (mx)
T
—cos ' (mx) tan _1[ f}
B = - 7/ |then A - B is
sin_l(iJ —tan " (1x)
i
equal to
A1 30
© 21 (D) EI
2

QuestionId : 19

If a matrix A is both symmetric and skew
symmetric, then
(A) A is diagonal matrix

(B) A is a zero matrix

(C) Aisscalar matrix (D) A is square matrix

Question Id : 20

If 21 ? + Y 0=5 6,thenthevalue
0 x 1 2 1 8

of xandy are

A x=3, y=3
B) x=-3, y=3
© x=3, y=-—3

D) x=-3, y=-3

Question Id : 21

Binary operation * on R - {-1} defined by

xh = iS
a b+1

(A) * is associative and commutative
(B) * is associative but not commutative
(O) * is neither associative nor commutative

(D) * 1s commutative but not associative

Question Id : 22

19.

20.

21.

22.

sin " (mx)  tan” (ij
A = 7
.o X 1 } ’
sin (—) cot (mx)
T
—cos'(mx)  tan _l(fj
B = . ™ |lssd, A- BW
sin" (ij —tan " ()
T
a3
! (B) 0
© 21 ™ 1 I
2
Question Id: 19
A TRE;F030 FZRON 3B DRERON 3N, T DTER

BTN A FIE,FOI0
(A) A BEOF m%@

(C) A 803 m%@

(B) A 5.@55 m%@
(D) A INF m%@

Question Id : 20

1 3 y 0] [5 6
2 T = SN x Oy
0 x 1 2] [I 8 -

ne 3Snsd

A x=3, y=3 B x=-3, y=3

©O x=3, y=-—3

D x=-3, y=-3

R - {-1 } neew &oeds, axh = 2 sert
b +1

T AQVBOL = QRS 3,050%0
(A) = ATHIFLOD 0B BORIFAEOITINTOZE

(B) = RTIIERCODTINGTD, TOTIEeoDB/Y,
(C) = FTTZFAONT/EY, TN TORIFAONTP &),
(D) = TOTBFRAOD SBT3 ZTHIFAONRY,

Question Id : 22
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23.

24,

25.

26.

27.

3 x |3 2 _
If = then x is equal to
X 4
A)2 B) 4
© 8 D +22
If A is a square matrix of order 3 x 3, then |KA|
is equal to
A) K|A| B) K?|A|
© K3|A| (D) 3K|A|

Question Id : 24

The area of triangle with vertices (K, 0),
(4,0), (0, 2) is 4 square units, then value of K

1S

(A)Oor8 B)Oor-8
©0 (D) 8
Ay x? 1
Let A=[By y° 1land
Cz z° 1
A B C
Ai=/x 'y z|then
zy Ix Xy
A) A =-A B) A=A
O A+ A D) A, =2A

Question Id : 26

Kx* ifx<2 . :
If f() = 1S continuous at

3 ifx>2
x = 2, then the value of K is
A3 (B) 4
(©) 3/4 (D) 4/3

Question Id : 27

23.

24.

25,

26.

27.

3 x |13 2
= SN x D 2330320
x 1 4 1
(A) 2 (B) 4
© 3 D) +22

Question Id : 23

A O0DO3 X 3TEFOD =J_NFE M%ﬁoiYamﬁ KA|
mgﬁodo 23e30320

(A) K|A|

(B) KZ|A|

© K3|Al (D) 3K|A|

Question Id : 24

(K, 0), (4,0), (0, 2) %orﬁ wocﬁarﬁ@;m‘%ﬁ TROTOT
8,50 i@@ﬁ@ 4 23030 SRINYOTT K T edefozn

(A) 0 &30 8 (B) 0 &3 _ 8
(ORY (D) 8
Question Id : 25
Ax x° 1
A=By y* 1 =&
Cz 7% 1
A B C
Al=x 'y z|85T
zZy Ix Xy
A A, =-A B) A, A
© A+ A @) A, =2A

Question Id : 26

Kx* if x<2
flx) = DNDRVOR VSISV IS fov)

3 ifx>2
X = 2 WOTNTY, B emomen K o eiegond
A3 (B) 4
(C) 3/4 (D) 4/3

Question Id : 27
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28.

29.

30.

31.

32.

The value of C in Mean value theorem for the
function f(x) =x21n[2,4]1s

A3 B) 2
© 4 ®m) 7/2

Question Id : 28

The point on the curve y? = x where the

tangent makes an angle of n /4 with X-axis is

(A) (1 1) (B) (1 1]
274 4’2

O 4,2) M) (1, 1)

Question Id : 29

The function f(x)=x*+2x-5 Is strictly

increasing in the interval
(A) (-1,) B) (—o,—1)

© [_ 11 OO) D) (_ 001_1]

Question Id : 30

The rate of change of volume of a sphere with
respect to its surface area when the radius is
4 cm is

(A) 4cm3 / cm? (B) 2cm? / cm?

© 6cm?/cm? D) 8cm3/cm?

Question Id : 31

Ify= tan‘l(w}, then 9 is equal
€COS X —Sin x dx
to
A 172 B) n/4
OO0 M) 1

Question Id : 32

28.

29.

30.

31.

32.

fx)=x> o3z [2, 4]o0Q T
TP, T,TeonT T30 C 3 wefosoo
A)3 (B) 2
© 4 @) 7/2

Question Id : 28

y2 = x 38,5830 e 0INTW WOBONTE), I
T REIPX @idfaoaﬁ TRET  BRCIYTT /4

SABTS.

(A) J] 1 B (11
5 i

(©) (4,2) @) (1, 1)

Question Id : 29

f(x) = x> +2x =5 @@Foﬁw % Qmﬁ W%@Ld

sROID
(A) (-1,%) B) (—o,—1)
© [_ 1.! OO) (D) {:_ OOJ_]-]

Question Id : 30

RRYT %Y 4 cm SN RREIT e | DA
TOWORRATIOZ NRPT PIPOT TG 3

(A) 4cm? / cm? B) 2cm? / cm?

© 6cm?/em? M) 8cm?/cm?

Question Id : 31

y = tan-l(—sm“cos x}eﬁdd Y 5 se

COS X —sin x dx
B) /4
D) !

(A)1/2
©0

Question Id : 32

42

Page: 7



33.

34.

35.

f(x) g() h(x)

Ify= | 1 m n |, then dy.
dx
a b C
to
@ f(x) () h()
1 m n
a b C
® | 1 m n
fix) g(x) h'(x)
a b C
© [fx) 1 a
g(x) m b
h'(x) n ¢
™ | 1 m n
a b C
f(x) g(x) M
If sinx= %, ny = -, then
equal to
A 1 B) 0
O -1 D)2
The derivative of 005*1(2 X’ _1)
cos 'x 18
A2 B) -1
2./1—x~
© 2 D 142
X

is equal

Question Id : 33

d .
Z s

Question Id : 34

w.r.t

Question Id : 35

33.

34.

35.

f(x) g(x) h(x)

y= | 1 m  n |ezs Yo
dx
a b C
A f(x) g'(x) h'(x)
| m n
a b c
®) | 1 m n
f(x) g'(x) h'(x)
a b c
O |f(x) 1 a
g(x) m b
h'(x) n ¢
™ | 1 m n
a b C
f(x) g h'(»

Question Id : 33

sinx = —, = 2 o8 Y3
1+1t2 1-—12 doe

Ayl B) 0

© -1 (D) 2

Question Id : 34

cos’1(2x2 —1) 2, cos iy Tt dWQRTN 3oz
(A) 2 (B) 1
2 fi-x

© 2 D) 1_,2

X

Question Id : 35
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36.

37.

38.

2

If y =log(logx) then

A)  —(1+logx) B)
(xlog x)’
©  (1+logx) (D)
(xlogx)’
(x+3)e* )
f o2 dx 1s equal to
(A) 1 (B)
+
(x+4Y
© e D)
+C
(x14)

cos2x —cos20

/

(A) Z(sinx+ xcos8)+C

cosx — cosf

(B) 2(sinx—xcosB)+C
(O 2(sinx+ 2xcosB) +C

(D) Z(sinx— 2xcosB) +C

Zis equal to

—(1+logx)
x? logx

(1+log x)
x? log x

Question Id : 36

X

&
(x+4)°

+C

X

€
(x+3)

+C

Question Id : 37

dx is equal to

Question Id : 38

36.

37.

38.

2

v = log (log x) esoon d . T We3odo
A —(1+logx) B) —(1+logx)
(xlogx)? x? logx
© (1+logx) D) (1+logx)
(xlogx)’ x*logx
X
[REA2
(x+4)2
A 1 (B) "
>+ —+C
(x+4) (x+4)
© o D o
*_icC * _ic
(x+4) (x +3)
J-ccnst—ccnsin dx & 2368

cosx —cosB
(A) 2(sinx+ xcosB)+C

(B) Z(sinx —xcosB)+C
(O 2(sinx+ 2xcosB)+C

(D) Z(sinx — 2xcosB) +C

Question Id : 38
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* J \/m dx 1s equal to
@) | 2
E(erl)meleg
R ENESE I R

(x+1)/x?+2x+5 + 2log
‘x+l+m‘ +C

(x+1) Jx? 255 ~2log
‘x+l+m‘ +C

(x+1)\/m+%1og
‘x+l+m‘ +C

(B)

©

(D)

%0. s |
j 7 — dx 1S equal to
0 cot'x+tan'x
GV ®
2 4
. ® =z
6 3
4. 5
I| x+2| dxisequal to
-5
A) 29 (B) 28
© 27 ®) 30
2.
J.—,-{_,fg eSinx +1 IS equal to
A) 0 ®) 1
© = ®
2 2

Question Id : 39

Question Id : 40

Question Id : 41

Question Id : 42

39.

40.

41.

42.

[x?+2x+s dx oo
(A) 1 2
5 (r+1)+fx" +2x+5 + 2log
‘x+1+m‘ +C

(x+1)[x?+2x+5 + 2log
‘:HHW‘ +C

(x+1) ¥’ +2x+5 — 2 log
‘x+l+m‘ +C

(""”)m+%log
‘x+1+m‘ +C

(B)

©

(D)

Question Id : 39

tan ' x

j N 7 — dx T WS
0 cot'x+tan'x
(A) T (B) E

2 4
© T D) x
6 3

Question Id : 40

5
I| x+2| dx @ 23e3o30

-5

(A) 29 ® 28
(©) 27 D) 30
T e
.‘._,—[_,fg esinx 4 1 ™ o3
A0 ®) 1
© = ® =
2 2

Question Id : 42
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43.

44.

45.

46.

47.

IJ‘[E 1 . 1
; dx 1S equal to
0 a’.sin’ x+b’-cos’ x

(A) ma (B) ma
4b 2b

© ab ® =n
4a 2ab

Question Id : 43
The area of the region bounded by the curve
y=2x" and the line y = 16 is

(A) 32sq. units B) 256sq. units
3 3

(© 64 sq. units (D) 128 sq. units
3 3

Area of the region bounded by the curve
y=cosx,x=0and x=m1is

(A) 2 sqg. units (B) 4 sq. units
(O) 3 sq. units (D) 1 sqg. unit

Question Id : 45

The degree of the differential equation

{H(d}’]'}': LAY
dx dx”

a1 (B) 2
O3 D) 4
General solution of differential equation
dl#ryzl(y = 1) 18
dx
(A) 1 B) log|l-y|=x+C
log|—|=x+C
I-y

©O log|l+y|=x+C

(D)
log

-y

Question Id : 47

43.

44.

45.

46.

47.

dx T 2330320

JIT[E 1
0 a’.sin’ x+b’

(A) ma

4b
© =b

da

2

+COS X

(B)

mna

2b

@ T
2ab

Question Id : 43

y=x" By = 16 Feadoloos &3 B33

ORCEIFTY

(A) 30 BTTRIRINDL  (B) 256 BIT &RINO

3

3

(C) 64 BTTTRIND (D) 128 WTT IRINED

3

TyTed Y =COSX W

3

Question Id : 44

x=0 Eﬁ)gg X=T

NYOT &3 Z30T T, Te3TI DALY

(A) 2 B3TT IRTNLO
(C) 3 B3TT IRTNLO

N

{1+(d—yJ } =
dx
TORRET WS

!
©3

(B) 4 B3TT RIRINW
(D) 1 BTT TIRIAW

Question Id : 45

9Y wmses maocons
(h:4
(B) 2

(D) 4

Question Id : 46

3L+ y = 1(y # 1) B8OOI 0T mmsé
X

TOTIOR)

A
log

l-y

©O log|l+yl=x+C

(D)

log1
1-y

1‘=x+C

B) log|l-y|=x+C

‘=—x+C

Question Id : 47

46
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48.

49.

50.

51.

52.

The integrating factor of the differential
equation «x -31+ 2y = x21S (x #0)

X
A) 2 B) log|x]|
©) plosx D) x

Question Id : 48
Ifa=2i+2)+k and b=1+2]+3k are

orthogonal, then value of A is

A0 ®B) 1
© 3 ® 5
2 2
Question|d: 49
Ifd, B, ¢ are unit vectors such that

i+b+c=5, then the wvalue of
i.b+b-c+c-gisequal to
B)3
3 D 3
2 2
Queston!d:50

If 3§ & ¢ are unit vectors, then angle between

dand b for /33 —p to be unit vector is
(A)30° (B)45°

© 60° D) 90 °

Question Id : 51

Reflexion of the point (a, B,y ) in XY plane is
@A) (a,B,0) ®) (0,0,v)

(C)(—a,_B)V) (D)(Q,B,_V)

Question Id : 52

48.

49.

50.

51.

52.

dy

xooo 2y = x? (x #0) ©PBOT BT
X
RVBOT WTR3E )
A) 2 (B) log|x]|
©) gloer D) x

Question Id : 48

d=21+A)+k 8 b=1+2]+3k wow

TASNTITIN A 233030

A0 ®B) 1

© 3 ® 5
2 2

Question Id : 49

d B C N 9% BOSHENDD, 3O
a+b+¢=0 SN 3-b+b-¢+¢-a 3 WI

A1 (B) 3
© 3 ®) 3
2 2
Question Id : 50
a B p ROINH DT mssﬁ%ma@ EAVECY)

J3F — b 98 503 SRR S 1Y SRS e
Besoto
(A) 30 °

(©) 60 °

(B) 45 o
(D) 90 o

Question Id : 51

XY Az02em @S (a, B,y ) Voo &,80owy)
(A)(O(’B’O) (B)(O)O7v)

© (o -Bry) @) (a:pr-y)

Question Id : 52

47
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53.

54.

55.

56.

The plane 2x - 3y + 6z- 11 = 0 makes an

angle sin ! (a) with X-axis. The value of a is

equal to
A .3 ® /2
2 3
© 2 ® 3
7 7

Question Id : 53

The distance of the point (-2, 4, -5) from the
x+3_ y-4_ z+ 8is

line
3 5 6
A /37 B) 37
10 10
© 137 ®) 37
\m 10

Question Id : 54

A box has 100 pens of which 10 are defective.
The probability that out of a sample of 5 pens
drawn one by one with replacement and atmost
one is defective is

@A) 9

T T i)
10 2110
© 9N 179

_ _|_ _ _

=)+ (%)

2110

Question Id : 55

Two events A and B will be independent if
(A) A and B are mutually exclusive

®B) P(A' ~B')=(1 - P(A)) (I - P(B))
(©) P(A) = P(B) D) P(A) + P(B) = 1

Question Id : 56

53.

54.

55.

56.

X8 @@ 2x -3y + 62— 11 = 0 I0IOT IROIT
3nes sin~! (o) swen a & 35030

@ 3 ® /3
2 3
© 2 ®) 3
7 7
X3 Y74 2% 8 150 Seadowod (<2,
3 5 6
4, -5) VOTODT FROT
(A /37 B [37
10 10
© 37 ®) 37
10 10
womd  BUAEHOMH 100 FFo, A O 10
TRERFPOBTONT. 5 ﬁa’%ﬁ@od WOTT

FCEROTTOZ  WTCRRHBN w:msow 62’0@; 2,000
TRERTIHOT DTO=0S @%@m@%&ﬁ TOWRIEODZOD LIS

10 2110

© 9V 179
_ _I_ _ _
=)+ 1)

@) /g3
2(5)

Question Id : 55

A 0B B 0B BZ08, PLSRwTT &1
(A) A 02 B 7i$d TTTT 09,5337 3 Fe3TN0

@) P(A" ~AB) = (1 _P(A)) (1 _P(B))

(c) P(A) =P(B) (D) P(A) +P(B) =1

Question Id : 56

48
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57.

58.

59.

60.

The probability distribution of X is
X [0 |1|2]3

PX) | 03 | k| 2k | 2k
The value of k is
A) 0.14 ®)0.3
©) 0.7 D) 1

Question Id : 57

The shaded region in the figure is the solution
set of the inequations

y
\/\
(©.5)
\
0.3)

0 (4.0) N\
Sx+4y>20,x<6,y>3,x>0,y>0

(6,0)
(A)
(B)
©
(D)

Sx+4y<20,x<6,y<3,x>0,y>0
Sx+4y>20,x<6,y<3.x>0.y>0
Sx+4y>20,x>26,y<3,x>20,y>0

Question Id : 58
If an LPP admits optimal solution at two
consecutive vertices of a feasible region, then
(A) the required optimal solution is at the
midpoint of the line joining two points.
(B) the optimal solution occurs at every point
on the line joining these two points

(©) the LPP under consideration
solvable

1S not

(D) the LPP under consideration must be
reconstructed

Question Id : 59
3.5 .
I [x] dxisequal to
0.2

(A) 4
© 3.5

(B) 4.5
D)3

Question Id : 60

57.

58.

59.

60.

X T B0LIRe0T T03F
X 0 |1] 2|3

PX) | 03| k| 2k | 2k
Sinpiall GaghSleved
(A) 0.14 (B) 0.3
(© 0.7 () 1

Question Id : 57

sgoja@,) TOTOEAT Mey) ISND OTR®  WRWOSNY
ZOTOT ﬁsamﬁdagd.

y
\/\
(0.5)
\
0.3)

9 GON_  (6.0)

(A) Sx+4y2>20,x<6,y>23,x>0,y=>0
B) Sx+4y<20,x<6,y<3,x>0,y>0
(C) S5x+4y>20,x<6.y<3.x>20.y>0
D) Sx+4y>20,x>6,y<3,x>0,y>0

Question Id : 58

LPP 0 Foynss, SBT3 Q08 ©=03R 3 0nn

Stos) w@gmfs& %.ramw n

(A) BezoT BeB m’a@g TOTITRY) & TR WOTINTRY
0RO BTY Teadodd G, QOTTINTOZT.

(B) AT TPY, TOTITY & Q0R WOTONTS)

FeoMowm RIOY Teadodd w0edTdm @Y
WOTONTINTOZS.
(C) BNTOER0TE LPP i F0THo00), .
(D) B3 LPP o), sTd Susmedesod.
Question d: 59
J'3'5 [x] dx & i
02
A) 4 (B) 4.5
(©) 35 (D) 3
Question d:60
49
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COMMON ENTRANCE TEST - 2017

DATE SUBJECT TIME
02-05-2017 BIOLOGY 10.30 am to 11.50 am
MAXIMUM MARKS TOTAL DURATION MAXIMUM TIME FOR ANSWERING
60 80 Minutes 70 Minutes
MENTION YOUR CET NUMBER QUESTION BOOKLET DETAILS
VERSION CODE / SERIAL NUMBER
XXXXXX

DOs :
1. Check whether the CET No. has been entered and shaded in the respective circles on the OMR Answer Sheet.
2. This question booklet is issued to you by the invigilator after the 2™ bell i.e., after 10.30 am.

3. The Version Code / Serial Number of this question booklet should be entered on the OMR Answer Sheet and the
respective circles should also be shaded completely.

4.  Compulsorily affix the complete signature at the bottom portion of the OMR Answer Sheet in the space provided.

DONTs :
1. The timing and marks printed on the OMR Answer Sheet should not be damaged / mutilated / spoiled.
2. The 3" Bells rings at 10.40 am, till then;
e Do not remove the seal present on the right hand side of this question booklet.
¢ Do not look inside this question booklet.
e Do not start answering on the OMR Answer Sheet.
IMPORTANT INSTRUCTIONS TO CANDIDATES

1. This question booklet contains 60 questions and each question will have one statement and four distracters.
(Four different options / choices.)

2. After the 3" Bell is rung at 10.40 am, remove the seal on the right hand side of this question booklet and check
that this booklet does not have any unprinted or torn or missing pages or items etc., if so, get it replaced

immediately by complete test booklet by showing it to Room Invigilator. Read each item and start answering on
the OMR Answer Sheet.

3. During the subsequent 70 minutes :
e  Read each question carefully.

e Choose the correct answer from out of the four available distracters (options / choices) given under
each question / statement.

e  Completely darken / shade the relevant circle with a blue or black ink ballpoint pen against the
question number on the OMR answer sheet.

Correct Method of shading the circles on the OMR Answer Sheet is : @ . @ @

b

Please note that even a minute unintended ink dot on the OMR Answer Sheet will also be recognized and
recorded by the scanner. Therefore, avoid multiple markings of any kind on the OMR Answer Sheet.

5. Use the space provided on each page of the question booklet for Rough Work. Do not use the OMR Answer
Sheet for the same.

6.  After the last bell is rung at 11.50 am, stop writing on the OMR Answer Sheet and affix your left hand thumb
impression on the OMR Answer Sheet as per the instructions.

~

Hand over the OMR Answer Sheet to the room invigilator as it is.

@

After separating the top sheet (KEA copy), the invigilator will return the bottom sheet replica (Candidate’s copy)
to you to carry home for self evaluation.

9.  Preserve the replica of the OMR Answer Sheet for a minimum period of ONE year.

10. In case of any discrepancy in the English and Kannada versions, the English version will be taken as final.
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Identify the ‘order’ from the following:
(A) Carnivora (B) Muscidae

(O) Insecta (D) Panthera

Question Id : 1

Which of the following options show the

characters of mycoplasma?

(A) Smallest living cell without cell wall
survive with oxygen.

(B) Smallest living cell with cell wall survive
with oxygen.

(©) Smallest living cell without cell wall
survive without oxygen.

(D) Smallest living cell with cell wall survive
without oxygen.
Question Id : 2
Which class of Algae reproduces asexually by
non-motile spores and sexually by non-motile
gametes?
(A) Rhodophyceae

(O) Chlorophyceae

(B) Phaeophyceae
(D) Cyanophyceae

QuestionId : 3

Which of the following plants produce
zygomorphic flowers?
(A) Hibiscus

(O) Gulmohar

(B) Canna
(D) Mustard

Question |d : 4

The secondary wall material Suberin is
deposited on the walls of
(A) Pericycle of stem and endodermis of root

(B) Phellum of stem and endodermis of root
(O) Epidermis of stem and endodermis of root
(D) Phellogen and phelloderm

QuestionId : 5

83 FYNTIPNTY, FTEI030TY, TOTOER.
(A) TIRFTPT/TIN0TOTONY

(B) R ze

(©) faaeﬂﬁw (D) mgocﬁm

Question|d: 1
S WS soNYY,  oIRRW  BERTRIT
rbsaesmsar{@mq TROT 2
(A) STETT BB WeDRT, BReBYE T3 &8 zsﬁt
IADI)

(B) STNETT T BT, T3PS TRODTIET ©98
23%6 230BRES

() SREST ThB WeAT, ERe3PE Tk © w33
23e3ERe3

(D) SERETT T&Z WeNROT, BRe3RE TROOT ©8
z%%ﬁ 230BRES

Question|d : 2

33 BINSINTD, Nl eTataptal WBOT0&3
wemmw@u Donde&oN ) W¥OTITLE mgme@s@(

VDR FOTITREZE BRI FT/OT [N 0SRRTWI
C)

(A) dfoecé@%%)
(C) BRLTR P

(B) $03R¢ F

(D) ROZR FR

Question|d: 3

IO BRTOW  OIRE  BFT  BAMD  QF3F
AROTRANTINTIZS ?

(A) RS (B) 0T, (T23%)

(C) T FRTT (D) FR

Question Id : 4

ROLIOT Q0w Q0D WG TAY) TWNIYNTYT
O3RRTT WENRY w0 Ebaie&smﬁd ?
(A) TROTT d@:@%@e 20 OB LFTHOF

(B) TOOTT FQRF 030 2360 2w STR0F
(C) TOTT BRTTIOF 30 wWedS wITRF
(D) FRE® 080 FERERTF

Question|d: 5
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6.

10.

The type of epithelium found in the fallopian
tube which functions to move particles or
mucous in specific direction is:

(A) Squamous epithelium

(B) Cuboidal epithelium
(O) Ciliated epithelium
(D) Columnar epithelium

QuestionId : 6

Which one of the following is not included
under endomembrane system?
(A) Endoplasmic reticulum

(B) Mitochondria

(O) Lysosome (D) Vacuole

QuestionId : 7

In the following diagrammatic representation
of a standard ECG the ‘T’ represents.

R

P T

(A) Depolarisation of Atria
(B) Depolarisation of Ventricles
(O) Repolarisation of Atria

(D) Repolarisation of Ventricles

Question|d: 8

Which of the following is not a characteristic
of facilitated transport?
(A) Uphill transport ~ (B) Highly selective

(O) Requires special membrane proteins
(D) Transport saturates

Question Id : 9
Identify the elements whose deficiency causes
both necrosis and chlorosis.
(A) Mg, K (B) Mo, Ca
(©) Fe, Mn D) Cu, Co

Question|d: 10

10.

MYroey  (FAREVODT 8RF) TYTW o3RS
ST FONTI), ©FPS  SReFoDdTY  ADFR
D83, E O FHIODL TREOTT ?

(A) TR,_F0R° ST (B) FI9T,8 wIoSeTT

(C) TRea0s (300deedE) wRodems

(D) BOTRT’ 003

QuestionId : 6

T3 FTONT OONPTO 03T ReRTID
2R0023,6°) s 5ﬁﬁ WITRPRY, ?
(A) ©OBT* CS m@@ (B) [EdRT0E,0D

(D) TREDTTOT

(QOTR

(©) egsfcfaﬁuaew

Question|d: 7

éra@sdow FRREBSECG 0 288, N.@?BD 0837 ‘T’
@ejom mm mwwédodd

R

T
P Q S

A) B, 39@?55 &a@ae@d e3¢
B) T, 3@9033 @mj@@@d e3¢
(C) B 37 T OFPpewFFeT*
(D) T,ZXE 0D OFPpeOTH ST

Question|d: 8

TYR BRLITOT oI MOEOFEINs Toon pSplatacly
ROWOQRTL, ?

(A) ﬁaee;aea) TN (B) o‘béﬁw @Oﬁ%

(C) TPTOD DTER T, e3ex* Zp0QT

(D) RO, TN TOMETT

Question|d: 9

B3 FYNT 0INT TWRVRTY (FPeFT03) NY TRTS0IW
BR NG, FER,2%° 0B ERTRT NYCRIR, SVoLd
BRETT ?
A) Mg, K

(®) Fe, Mn

(B) Mo, Ca
(D) Cu, Co

Question Id : 10
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1. The outcome of Calvin cycle include:

12.

13.

14

15.

(A) 6 CO,, 18 ATP, 12 NADPH

(B) One glucose, 18 ATP, 12 NADPH
(O 6 co,, I8ADP, 12 NADP

(D) One glucose, 18 ADP, 12 NADP

Question Id : 11

The number of ATP molecules utilised for the
breakdown of one molecule of glucose during

glycolysis is:
(A) 4 (B) 2
© 6 (D) 8

QuestionId : 12

Match the enzymes of Column-1 with the
functions of Column-II. Choose the correct
option:

Column-I Column-I1

1. Enterokinase p. digests milk proteins

2. Rennin g. digests carbohydrates
3. Amylase r. activates trypsinogen
4. Lipase s. acts on nucleic acids

t. breakdown fats
A) 11, 2-p, 3-q,4-t  (B) 1, 2-p, 3-t, 4-q
© 1-s,2-p, 3-t,4-q D) 1-s,2-q, 3-p, 4-t

QuestionId: 13

The volume of air inspired or expired by a
healthy man per minute is:
(A) 1000 ml - 1100 ml (B) 2500 ml - 3000 ml

() 6000 ml - 8000 ml () 400 ml - 500 ml

Question Id : 14

The blood cell that
serotonin and heparin is:

(A) Neutrophil (B) T-lymphocyte
(O) Killer cell (D) Basophil

secretes histamine,

QuestionId: 15

1.

12.

13.

14.

15.

VRN TO* 38,3 WVTITINYR), WHNRORT.
(A) 6 20TROT § &8 @, 18 ATP, 12 NADPH
(B) WOTD NRZREFT, 18 ATP, 12 NADPH

(C) 6 BOMOT ¢ &3 T, 18 ADP, 12 NADP
(D) 200 MEReX*, 18 ADP, 12 NADP

Question Id : 11

1}, BReORT 8,000, 2,000 MEACT TR
TOB TSN &owmw ) tearios ATP 1Y R0,

(A) 4 (B) 2
(©) 6 (D) 8

Question Id : 12

Fo00-1 TQTOT 3eNTSY Towo-II TYTOW &N

DODFTRRS  FeoDA, 9 FREHN RO
momsééojo&g{ e:soiv(s IR,
F900-1 F5o00-11
L. p . BT COONMIONY
ROWTRTTER®  2BeEoF TIEITT

. TOWRF DT, 0863° NY30
2 d@@e (zliesérmgd ° *
3. ORI 1. @3l [y GuZeRogd

4. STex® 5. SRFT SN B0e TEFROZD

t. ﬁaecj&abq aocsamgd

A) 1-r,2-p,3-q, 4-t (B) 1-r,2-p,3-t,4-q

(C)l-s,2-p,3-t,4-q (D)1l-s,2-q,3-p,4-t
Question Id : 13

WO ANTORHODY, %), e:sdraeri WO WRIDID
SMEDRY TR T me o= m@oﬁa nog, |
wwma@

(A) 1000 &0.9¢. _ 1100 £0.9.
(B) 2500 &0.9¢. _ 3000 £0.9k.
(C) 6000 .9¢. _ 8000 20.9k.
(D) 400 0.9¢. _ 500 Q0.9
Question Id : 14
LR, FCHRRT B Fw,0F NERY BT
o8 BeasD),
(A) SR ER QS B) T-OozpRes*
(C) 3QT° FeF* (D) VeRRPS*
Question Id : 15
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16.

17.

18.

19.

20.

21.

The hormones involved in maintaining calcium
balance in the human body are:
(A) PTH and TCT (B) PTH and LTH

(©) TCT and FSH (D) MSH and ACTH

Amoeba 1s immortal because:
(A) it is multicellular ~ (B) it is microscopic

(O) it reproduces by sexual method only
(D) parental body is distributed among the
offsprings during binary fission

QuestionId: 17

Which of the following is not a pre-fertilisation
events in higher organisms?
(A) Gametogenesis (B) Gamete transfer

(C) Meiosis (D) Cleavage

QuestionId: 18
If a tetraploid plant contains 48 chromosomes
in 1ts nucellus, then number of chromosomes in
the egg cell and in a synergid respectively:

(A) 48 and 48 (B) 24 and 24
(O) 24 and 48 (D) 48 and 24
Pollen grains are generally spherical,

measuring about:
(A) 25-50 micrometers (B) 25-50 millimeters

(C) 25-50 nanometers (D) 25-50 centimeters

Question Id : 20

Which of the following characters is not

required for autogamy?

(A) Flowers require synchrony in pollen release
and stigma maturation.

(B) Anthers and stigma should lie close to each
other.

(O) Flowers should be bisexual.
(D) Required pollination agents.

Question Id : 21

16.

17.

18.

19.

20.

21.

TITS BeBTEY, %Ezsé')éojoo ﬁdsé@@@ﬁﬁﬁ%
QT EROT TOWACF RONTD

(A) PTH 035 TCT (B) PTH &0 LTH

(C) TCT 3083 FSH (D) MSH &0 ACTH

Question Id : 16

950002T05y) WT0LIe) OINTFOTIT,
(A) BT WIS WD (B) BT m% 30 2%

Q> dondedod  HozedeeEd  @WRE,
TRBORTOOT

(D) IOV T[T QOPRSRROB FOBENTY, T0ows
TRETVRTOOT

Question Id : 17

S5 FINTYNTY, IR0 ReONFT Wedns Jeeds
3,037 RRTIT FEINCIRNTVRRY, ?

(A) TR (B) T,800E° ToNes

(C) S0OTRRTE (D) §eesees

Question|d: 18

SRR I 4 8 [EDFIOBNYI) TRODT 20T
88, TRE TRT oW WY WOWD  ATRE T
ST WeaF3030ME 30@350333, 3,e00N
(A) 48 3030 48 (B) 24 3032 24

(C) 24 SO0 48 (D) 48 303 24

Question Id : 19

mmsémﬂ TOINTELONLD riroe%admﬂd% ,

L0 BFSO0, B3 0e8 AT
(A) 25-50 BR,0eITT (B) 25-50 Q0 Q0ee3T*

(C) 25-50 TTRQEWT* (P) 25-50 FOLCLWT*

Question Id : 20

85 FENT 037 1069 SERMRIN BN T, ?
(A) BPBNRT T, DM TOIMT WRNE Lt
SRR

(B) BTN, 0B TN BREBRTD FATTYTITTIO
(C) ROON PRNFIY, G022 LRI
(D) BONIJFTITINY 33,53

Question Id : 21
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22.

23.

24,

25.

26.

27.

Which one of the following character favours
the process of normal spermatogenesis in
human male?

(A) Descent of testes into scrotum

(B) Testes remain in the abdominal cavity
(O) Infection by mumps virus during childhood

(D) Increased scrotal temperature
Question Id : 22

Accessory ducts of reproductive system of
human female include:
(A) Oviduct, uterus & vagina

(B) Oviduct, ovaries & ovarian ligaments
(O) Oviduct, ovaries & mammary glands

(D) Ovaries, uterus & vagina

In human females, the number of primary
follicles left in each ovary at puberty is:

(A4) 3000 - 30,000 (B) 30,000 - 60,000

(©) 60,000 - 80,000

(D) 1,50,000 - 1,60,000

Implantation is influenced by

(A) FSH (B) LH

(O) Progesteron (D) Relaxin

In India the action plans for family planning
were initiated in the year:
A) 1972 (B) 1947

(©) 1951 (D) 1950

Question Id : 26

The inner cell mass of blastocyst becomes:
(A) extraembryonic membranes

(B) differentiated into embryo proper

(O) chorionic villi (D) placenta

Question Id : 27

22.

23.

24.

25.

26.

27.

RPOORTY, B NI TR TR,
ROF EReEVT® 3,007 STOTROTTT msaeﬁr
5

(.A) R, Weamed FRed ?,:"see)z:irae:?éfs QLOTONT

(B) ®,TEIMNED %zir%&'i YPRNTEE VPOTONT

(C) WRO,TY, 0T FTF'S AREOA0T

(D) F,TeD WOT THTRRTT DOF

Question Id : 22

R, WITON PHE  WETO TN ORNTY
wérirao@d
(A) TPFIY, NPFERes 030 wz%m

(B) TPFTY, £0ma30INL0, wWeSedoa* Onooes
(C) NPT, LOTITORNE 08 AINT
(D) ©0TBONNED, MIFERes T [T

Question Id : 23

TEFBIN  WORWT TEIS T3 SomIONTY
SRR T 7,300 B rv Nogj evey
(A) 3000 _ 30 000 (B) 30, 000 60,000

(C) 60,000 _80,000 (D) 1,50,000 _ 1,60,000

Question Id : 24

Q0T VLT’ VWOOTI YVZLWTOBITT
© @&?ﬁgj@ﬁe (D) OB

Question Id : 25

PPUBTY, BE0W  CERCRSTON  FONF  03ReKS

TOSBROT R
(A) 1972

(o) 1951

(B) 1947
(D) 1950

Question Id : 26

WRAR AT B 0B0F ERe3 ATRTY LIV
(A) B, 69T TRTFPTOIRNROBT

(B) %3, £9530N TS SRWEBT
(C) TRCOCINIF® DY, 0PMOTT
(D) TR0 (FwRD) BT

Question Id : 27
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28.

29.

30.

31.

32.

33.

Example for autosomal hyper aneuploidy is:
(A) Down’s syndrome

(B) Klinefelter's syndrome
(O) Turner’s syndrome (D) Haemophilia

Question Id : 28

In dihybrid cross, when F; plants (RrYy) are

self hybridised, the ratio of segregation of
yellow and greenin F, is:

A 1:2:1 B) 3:1
© 9:3:3:1 D) 1:1:1:1

Replacement of which one of the following
nucleotides in the Hb* gene causes sickle cell

anaemia ?
A AtoT B) Tto A
O Uto A M®CtoG

Question Id : 30
The type of sex determination in honey bee is:
(A) Haplo-diploidy =~ (B) Haploidy
(O) Diploidy D) ZZ-ZW

Question Id : 31
Match the number of nucleotides of genome of

Column-I with the organisms of Column-II.
Choose the correct option given below:

Column-I Column-II

1. 5386 nucleotidesp. E.coli

2. 48502 bp q. man

3. 4.6x10°bp r. Drosophila

4. 3.3x10° bp s. ¢ x 174 bacteriophage

t. bacteriophage - lambda

A) 1-s, 2-q, 3-p, 4-t
(O 1-s, 2-t, 3-p, 4-q

(B) 1-s, 2-p, 3-q, 4-r
D) 11, 2-t, 3-s, 4-p
Question Id : 32

The average length of hnRNA in humans is,
(A) 3000 bases (B) 2.4 million bases

(O) 1500 bases D) 500 bases

Question Id : 33

28.

29.

30.

31.

32.

33.

SEREAREY ZITO' BTN GVIITTE
(A) C@S:%OGK@GW

B) &, FOTF 207R, e

(C) BBFRF A0TER,ETT (D) SeSpepdodm

Question Id : 28

QZPesTes T,0IRNTY, WRTOTE ePNOD FF,NTIY
(RrYy) 3 SR @EREs Snamn 20683 3¢
&e@ﬁoﬁa@q TIO B TAT WeRTVNY TOWFCD
LRI B8 08 AT :
A) 1:2:1 B) 3:1
(C) 9:3:3:1 (D) 1:1:1:1

Question Id : 29

Hb* 23eQT 030 SR, 3 03RCE T 8 WHCRBROW0T

RBE* FSF SADO0INT F9TEINGS
A)A2or T B) T 20T A
(©) Uaom A D) C2a0x G

Question Id : 30

e Beeandd Don AR Ty 88 0eE0NTNT
(A) FUTR,- BTRON, (B) IyTRW)
(C) BFRE%W, (D) ZZ=ZW

Question Id : 31

Fo00-1 T ¥eeny’ 3 81,3 0dneti Ny Hoas030=Y
F000-11 TYTHE WEANFROON TLODAT TOCTINT

ejoj%oivs;% QT30 :

To©0-1 Fo00-I11

1. 5386 3R,§O3ReEITE p. 1. TR,

2. 48502 bp q. TRID

3. 4.6x10° bp r. @,3Re0

4.33x10° bp 5.  x 174 23, DodRgier

t. 093 DO3ReFeEE — ComR
ed @

(A) 1-s,2-q,3-p, 4-t
(C)1-s,2-t,3-p,4-q

B) 1-s,2-p,3-q,4-1
(D) 1-r,2-t,3-s,4-p

Question Id : 32

BRIBIQ hnRNA 03 FTRO VT3 3 BeS0INNT
(A) 3000 23ex* Agh

(B) 2.4 Q0OONT* 3TN
(C) 1500 e3ex Rsd (D) 500 23ex° 1ied

Question Id : 33
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34.

35.

36.

37.

38.

39.

If E.coli is allowed to grow for 40 minutes in a
medium containing N, then the number of

N1/ N* containing DNA would be:
(B) 20
(D) 2

(A) zero
©) 10

Polymerisation of DNA nucleotides during the

synthesis of lagging strand occurs in:
(A) 3' — 5'direction  (B) 5' — 3' direction

(O) Any direction

(D) promotor to terminator direction
Question Id : 35

In lac-operon concept of gene expression,
allolactose acts as,

(A) repressor (B) inducer

(O) co-repressor (D) co-enzyme

Question Id : 36

The anticodon found on the t-RNA for
tryptophan amino acid is
A) ACC B) UGG

© UCC (@) CUU

Question Id : 37

Which one of the following is the identifiable
character of Neanderthal man?
(A) brain capacity 650 cc-800 cc

(B) developed pre-historic cave art
(©) lived before 2 million years ago
(D) burried their dead.

Question Id : 38
Identify the plants that are dominant during
Jurassic period.
(A) Angiosperms and Bryophytes

(B) Sphenopsida and Ginkgos
(O) Ferns, Conifers and Cycads

(D)  Monocotyledons and  Arborescent

lycopods

Question Id : 39

34.

35.

36.

37.

38.

39.

E.coli mézgjeaomw:% 40 QEVR/NY Fo©  NIF QO
m@qu 3Boed mgjd’, 0309, eseyneS) N1
/N1# 00w DNA nigd :

(A) RRT (B) 20
(©) 10 (D) 2

Question Id : 34
oA faleland R, owm 30330=Yzon DNA

5@ %eoﬁmeéﬁcéme;o ﬁ@@&%s@omm@m

A3 —5 @%3@3 ®)5 —3 Q83Q,
(C) CInRTe @r";ﬁ@q

(D) TR,TRLT® Q0T £380F See3T* DB,

Question Id : 35

o, | Nslepia w@ﬁ@ﬁodo 3o 55@.@@@% (226
@ww %maﬁ@y) &R, era iraexé‘ 2 —03

(A) OF3 Sanley (B) <aoc§fa pSlo
(C) R - OB T (D) 3R - TS

Question Id : 36
BIRTHT NI ST QT t-RNA o
W0eOT 30833ReTO° (Anticodon) OIRNFTEOTT,
(A) ACC 8) UGG
(c) UCC (p) CUU

Question Id : 37

YRINWY,  IRF[T  AOIROBFIS  BRFSTZ,
MOTOERUWTITINT MOED VB 2
(A) FOTOPS M8, 650 cc - 800 cc QTR

(B) ETOR FPFF MOTHIBL aira&%cs%
(C) 2 S0O0D TR 80T ?.JCSJ%C?DCS%
(D) FTHTIY, TRYOITOT

Question Id : 38

GORALD TRODT

wmesﬁose QLOONTEEY )

mo@mf?o TOTOSR.
(A) DOTCIRET wfs- =030 W, oiraeww

(B) %em%cs 0B 0T R’
(C) FI'F, BREAFT? 30 FZoTw°
(D) BRIRTLST’ ) SLiRer TF 0 &RRTE:

Question Id : 39
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40.

41.

42.

43.

44.

45.

In humans, common cold is caused by:
(A) Retrovirus (B) Bacculovirus
(O) Rhinovirus (D) Rhabdovirus

Question Id : 40

Which of the following vector-borne diseases
caused by Aedes mosquitoes ?

(A) Ascariasis and Filariasis

(B) Malaria and Sleeping sickness

(O) Dengue and Chikungunya

(D) Kala azar and Filariasis

Question Id : 41

Morphine is obtained from the:
(A) Inflorescence of Cannabis

(B) Leaves of Erythroxylum
(O) Latex of Poppy plant
(D) Root of Atropa

Question Id : 42

Inbreeding  depression due to
continuous

(A) Intra-breeding

occurs

(B) Inter-breeding
(O) Inter-generic breeding
(D) Inter-specific breeding

Question Id : 43

Identify the correct combination of crop-

variety and insect pests.

(A) Okra- Pusa sawani- Shoot and Fruit
borer

(B) Flat bean - Pusa Gaurav - Fruit borer
(O) Brassica - Pusa A-4 - Aphids
(D) Brassica - Pusa sem-3 - Jassids

Question Id : 44
Which of the following crop is developed by
mutation breeding, that is resistant to yellow
mosaic virus and powdery mildew?
(A) Cow-pea (B) Okra

(©) Chilli (D) Mung bean

Question Id : 45

40.

41.

42.

43.

44.

45.

BRIV, &¢38 F2T?
(A) O¥R, FoF

(©) R HTx

(B) mgsoeirae fg)dﬁe
(D) TUR, I
Question Id : 40

B3 BINST OO WTO° — WIRET'F TREMNY BTBOREN
PRT* R TTETINS ?

(A) STV T TS ORI

(B) S0Se00IN 0B) d53e,Been

(C) BOm), 032 WHIT* T,

(D) TR BTYT® T FHSeO0IRIT®

Question Id : 41
TRYED’ T, BBOOT BHODMIZH
(A) TRWA I TEMW, (B) POEBN 00 2SNEH
(C) T AF,T T (D) SER,To e

Question Id : 42

JTOBTOT 85 DRI VAT W,eROT BFITI Y
SVOLROTINTRIZTS
(A) BOER, W, 30N (B) ROIT* W, eL30n°

(C) 20ET* HES0T® 2, eon”
(D) VOLT* BT W, eRON

Question Id : 43

WI- - osewny BOOIRT FOCIREWIODTY
oTVER.

(A) &T, — TR B _ TOT 2B o0 TRTT
(B) TE° QeI _ SR, NPT _ 59000 BRTB

(C) WAT _ w—;@dm A-4 _ QT

~

9 - -2 _ 9
(D) WRAT _ TFRFD a3 _ RA!

~

Question Id : 44

BEO 130 0B WATTRENTE ATRETT I3 TLOHTOTI
B3 TENT O IPOT T UEST W, 0RO 0T
@wq)@pmx%%d ?
(A) T2

(©) ¥,

(B) %,
(D) 00N e’

Question Id : 45
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46.

47.

48.

49.

50.

Which one of the following has been
commercialised as blood-cholesterol lowering
agent?

(A) Streptokinase

(C) Statins

(B) Cyclosporin-A
(D) a-Trypsin-A
Question Id : 46

As the organic matter increases in a water
body, the BOD:

(A) increases (B) decreases

(O) remains unchanged (D) not a parameter
Question Id : 47

Restriction endonucleases are isolated from
some bacteria. Their role in bacteria is:
(A) defence against virus

(B) synthesis of proteins
(O) act as genetic material

(D) help in reproduction
Question Id : 48

From which bacterium the REN-Sal-I is
1solated?

(A) Escherichia coli
B) Streptococcus aureus
(© Haemophilus influenzae

D) Streptomyces albus
Question Id : 49
A transformed bacterium with human gene,
fails to produce desired protein. The reason
could be:
(A) Human gene may have intron which
bacteria cannot process.

(B) Amino acid codons for human and bacteria
differ.

(©) Human protein is formed but degraded by
bacteria.

(D) The bacterial promotor gene cannot induce
transcription of human gene.

Question Id : 50

46.

47.

48.

49.

50.

35 FINIFNIY CINITI, T3 RS TS S FR
BN TI0LN T CFONGONTS ?

(A) LRES (B) FPREAOT - A

(©) ¥, (D) REEHT-A

Question Id : 46

Qe BNTOTY, TTONT TJHF DL WoZeR, BOD
o3

(A) émwmgd

(C) WTRMOZHOY,

(B) BREOORNOST
(D) e:vsos OTINMOR VY,

Question Id : 47
TOY IR,3COCINNPOT DRATT® 0TWR 8FOReT
NSy, TWOWOBRMITT. & e39,8c00INNTY, wIne
T98,5eT0TT,
(A) %O’?SG ne @dxgoo’g% (B) T, 03 303008

(C) ©ROT0T FRITNT
(D) ROTISREZIN FBBOROYTO

Question Id : 48

e PN méieaomaod Sal-Tx0w REN 52(
magaxemcf ?
(A) PTOEXOTT @me@

(C) SCRRQOTE AF° oo

(B) ﬁ@ﬁjﬁd@%fo"‘ Cleloweryd

- = el b
D) Nwegj%j d%ﬁw @%N

Question Id : 49

TRIDS T0Te0&0TT TORSFINROT

WREC00INTY  AOEET TR WVTTIODY

DTONROBT. T,

(A) DIRTBT T0TeT0800W TR, TNFDY, 239,800
8, CORRYI N

(B) JRTT TBY w3 eocinne wEFe s
o3 Wedoinneg

(C) TOTT Fp,eedesd QUBTBIOTRTTR 2398 c00R
STIY, ToB TR

W ECO0INT  FFp,BRCLTT  B[RIT WY
3,00099¢® TRTLD TGN,

(D)

Question Id : 50
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51.

52.

53.

54.

Read the statements 1 and 2. Choose the
correct option:

Statement 1 RNAi take place in all
prokaryotic and eukaryotic organisms as a
method of cellular defence.

Statement 2 : RNA interferance is a pre-
translational process.

(A) Statement-1 incorrect, statement-2 correct.

(B) Statement-1 correct, statement-2 incorrect.
(O) Both statements are correct.

(D) Both statements are incorrect.

Question Id : 51

The human protein a -1 antitrypsin is obtained
from:
(A) transformed bacteria

(B) transgenic animal
(O) transgenic plant
(D) a plant from Western Ghats

Question Id : 52

Psammophytes are growing in/on
(A) Rock (B) Deserts

(C) Water (D) Shades

A plant shows the following modifications :
(1) leaves covered with dense hairs

(1) leaf surface shiny or glabrous

(i11) leaf blade remains rolled during day
The adaptation of the plant is to:

(A) conserve water

(B) prevent excessive heat
(O) check transpiration (D) absorb water

Question Id : 54

51.

52.

53.

54.

TINS TeITNTIY, Wl FOCINRTOTSY, o), [WRR.
TewF-1 LR, FRT0REE WO
0X0T,00dRes NFY RNAI 20w 23e8ned Tgme
DT QTOBT.

TePF-2  : RNA Q0830° ﬁo”a: @m@m 20T
33, %° Te3T* ;3,0

(A) TEPT-1 3@"%, TEPT-2 TO.

(B) TEPT-1 RO, TEYF-2 3@.

(C) NTBR TePINYO 0. (P) DTRP TEYBNRTD 3@“ .

Question Id : 51

TRTITI o -1 S0 LT° T, eL3eSTY CSRRTOOT
TBODSONT

(A) @)ai)mdm;mg%weéoim

(B) £, 0308° 9,9

(C) & RT %Sg

(D) wéwm 3;’.9@%55 20T Sﬁ?j

Question Id : 52
T, BRI WHODOR
(A) WOTMS e (B) SOTOLROODY,

(C) DO, (D) ST,

Question Id : 53

2,030 N&@ B8 FENS Mmrz&mfﬁ& SReOROBT.

(i) DSNY 0eeS B202T HSOD BRTLONTD QYTOIT.

(i) o daeei’w TRIVIOT BRRT.

(iii) oD word  (Pew') TROIEY oIeenen
REBRORTITT.

B3 R0COT TROTIESTNLD DTIY, EReOROYTOTT -
(A) V€03 500’%%

(B) ﬁzsaw @wmmmq 3@@&@%@6&

(C) WX eﬁo’sawa’% BB

(D) @ed@{ %oeaém%f%@m

Question Id : 54
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55.

56.

57.

58.

59.

Mac Arthur’s vision of 5 closely related species
of warblers living on same tree were able to
avoid competition and co-exist by behavioural
difference. This is an example for:

(A) Competitive release

(B) Resource partitioning
(C) Competitive exclusion principle

(D) Adaptive radiation
Question Id : 55

Climax community is a state of:
(A) non-equilibrium  (B) near equilibrium
(O) pioneer species
(D) changing community
Queston!d: 56

The process of decomposition delays when,
(A) the detritus is made up of sugars and
nitrogen compounds.

(B) aeration is sufficient.
(©) warm and moist environment exists.

(D) detritus is rich in lignin and chitin.

Question Id : 57

The variety of indigenous cows is an example
for:

(A) Genetic diversity  (B) Species diversity
(O) Ecological diversity

(D) Microbial diversity

Question Id : 58

So far 1.5 million species are identified, in
which the number of fungi species identified is
more than the combined total of:

(A) Algae, lichens, mosses and ferns

(B) Fishes, amphibians, reptiles and mammals
(O) Molluscans and crustaceans

(D) Molluscans, fishes and amphibians

Question Id : 59

56.

56.

57.

58.

59.

eOERo BPFO'  TOWOZ 0T TET  ROWOTT
BeTRRT w07 QO WAL wode WHTIY
AGENPQT, SWIYTO0T FHLIY, WREITD. QT
od:a@cﬁd VDO NOTT

(A) T0QE33e DOCA®

(B) ORRCTE oe3r 30"
(C) T0Re3e3e* @Eﬁ)@ﬁ&e 3305
(D) BTRET TeRoesT®

Question Id : 55

3,305 BOBO® 3 30300TT
(A) STTOBREOT

(B) FERCOTTZ ROCTmTIT)
(C) TRREAONT® Ty3es  (p) FOBOW WHBRHTH

Question Id : 56

BRYCINE 38,0305 CIRTN DRTITOTS
(A) TE3 BT 3870 K TORTIOOT TRBEOUFT

(B) mﬁﬁaﬁ MY OSRTRIRTO0T

©) wzgpa TonR 2e0030T
OTORTI0T

(D) BT @éﬁ?ﬁ% 672{36 =B %@356 0T
FRETOPYTO0T

BRRT

Question Id : 57

n@s 7308 TRONS YO0 @d@t VTIIBTEBOINT
(A) WS FT 3 (B) BT F033

(C) SBRWES® %&qﬁzsﬁ (D) mg@wem@ %@qﬁzsé

Question Id : 58

T/W/OMR  BOTRT 1.5 0D @aﬁedﬁ@ﬁg{

MOTOETCRNG. BRNTE. 80T, N 83 FENT C30ews

nOORPNS Boo3eed a"amﬁoé émw NG.

(A) %mme;a, éemm%mfa, TINRTT N B
TOCNTNO

(B) SCTONTD,  YVPORTANED, xa%wmfo EAVICY)
THINGO

(©) m@csaoﬁmﬁo 203 @ﬁweéojasf ned
(D) m@cs“ ONTE, TN TOBY LVLIOITARAND

Question Id : 59
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60. The safe method of disposal of e-waste is: 60. €~ WA, NFT BOTZZ L0 WRET DTOT
(A) incineration (A) QTRTTE3 (B) WODNIZY, R0
(B) burning in open field (C) DeOn DFCI0TYTd
(O) thrown into water (D) dumping in forest (D) TRIRTT BOOOIOFTO
Question Id : 60 Question Id : 60
63
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